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General Abilityl
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261421
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Question Number : 1 Question Id : 54062624073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

PMO, USV, ZYC, EEJ, ?
Options :
1. * KNQ
2. % LOR
3. ¥ MPS
4. ¥ JKQ

Question Number : 1 Question Id : 54062624073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § U Ue g 8| fau 77U fasedt & O o 9e! fawed gg, S 31 gehH & 1 &R |

PMO, USV, ZYC, EEJ, ?
Options :
1. % KNQ
2. % LOR
3. % MPS
4. ¥ JKQ

Question Number : 2 Question Id : 54062624074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

N18M, R36Q, V72U, Z144Y, ?
Options :

1. % E288B

2. % D288C

3. % D289A

4. % G285D

Question Number : 2 Question Id : 54062624074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T B, Ford @ U Ue g 21 fau T fawen & ¥ 98 9l fawed 9T, St 3igehd o T B

N18M, R36Q, V72U, Z144Y, ?
Options :

1. # E288B

2. % D28BC

3. ¥ D289A



4. % G285D

Question Number : 3 Question Id : 54062624075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After arranging the given words according to dictionary order, which word will come at ‘fourth’ position?

1. SHELF
2. SHEEP
3. SHED

4. SHAFT
5. SHELL

Options :

1. # SHEEP
2. ¥ SHELF
3. % SHAFT
4. % SHELL

Question Number : 3 Question Id : 54062624075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 71U Y3l ) MDY & TR TR HRA & YT, DI 1 Teg T I TR ST

1. SHELF
2. SHEEP
3. SHED

4. SHAFT
5. SHELL

Options :

1. % SHEEP
2. ¥ SHELF
3. % SHAFT
4. % SHELL




Question Number : 4 Question Id : 54062624076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. # Factory — Workers

2. ¥ Parlour — Farmer

3. # Hospital — Patients

4. % School — Students

Question Number : 4 Question Id : 54062624076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we o fou e fawed & 9 fawd 2rsg g &1 gHT|

Options :
1. % Thac! — Holge
2. ¢ UIeR - fodH

3. % 3T — TR
4. % fOgTg — B

Question Number : 5 Question Id : 54062624077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % BDL - XZH
2. % QMS - MGO
3. ¥ BJO - XFK

4. % OTF - KPB

Question Number : 5 Question Id : 54062624077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR UMY IR seR gE UM E | () & Sl oiR A T a1eR (o) F arfY o A TR a1eR 2 foreft adh Mo iy 9 Tafda 81 A
I TH qh/Mar/AEY & YR IR 99 g | 3T T8 fawen & ¥ fawd &1 g

Options :

1. ¥ BDL - XZH

2. ¥ QMS - MGO

3. # BJO - XFK

4. ®* OTF - KPB

Question Number : 6 Question Id : 54062624078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. # GILPU

2. % NPSWB

3. % ZBFHL

4. % LNQUZ

Question Number : 6 Question Id : 54062624078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfad uy o fau e fasedt & 4 faww ser/siarl o1 gl
Options :

1. ® GILPU

2. ¥ NPSWB

3. ¥ ZBFHL

4. % LNQUZ

Question Number : 7 Question Id : 54062624079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Hospital : Nurse :: School : ?
Options :

1. ¥ Teacher

2. # Chalk

3. % Education

4. #® Bench

Question Number : 7 Question Id : 54062624079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve # fau e fawed # ¥ Tefia wsa! &1 g
ATd : 9 - faemerg - 2

Options :
1. ¢ fRierep
2. % [
3. % fRrem
4. % 9

Question Number : 8 Question Id : 54062624080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

RAP : LWN :: ?
Options :
1. % PIN :JFL

2. % GOM : KKC
3. % TAP : MWP
4.+ LUM : IQH



Question Number : 8 Question Id : 54062624080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawed! & O d6fia sieR g o1 gl

RAP : LWN :: ?
Options :

1. # PIN :JFL

2. % GOM : KKC
3. ¥ TAP : MWP
4. ¥ LUM : IQH

Question Number : 9 Question Id : 54062624081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

RAMP : UZRK :: ?
Options :

1. % LOBS : ONGH
2. ¥ TEAR : WVFI
3. ¥ GORE : JLUV
4. % LURF : QFWV

Question Number : 9 Question Id : 54062624081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fdu e fawedt & 4 d6fia siek g o1 gl

RAMP : UZRK :: ?
Options :
1. ¥ LOBS : ONGH



2. ¥ TEAR : WVFI
3. # GORE : JLUV
4. * LURF : QFWV

Question Number : 10 Question Id : 54062624082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Ramu parties hard’ is written as ‘ab cd ef”, ‘Questions were hard’ is written ‘jk Im ef’. What is the code for ‘hard’ in
that code language?

Options :
1. * Im
2. % ef
3. % ab
4. % cd

Question Number : 10 Question Id : 54062624082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh ﬁﬂwzm 'J-ﬂtﬂﬁ, ‘Ramu parties hard’ BT “ab cd ef’ foraT ST %, ‘Questions were hard’ G ‘jk Im ef” forar ST %I < IS HIT H
‘hard’ T HIS HT1 8?2

Options :

I. #* Im

2.9 ef

3. % ab

4. % cd

Question Number : 11 Question Id : 54062624083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘The whole nine yards’ is written as ‘4 8 7 3°, “Nine yards are long’ is written as ‘7 3 1 5. What is the code for ‘yards
nine’ in that code language?

Options :



1.¥ 37
2.% 58
3. % 45
4. %71

Question Number : 11 Question Id : 54062624083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wﬁﬁmﬁ—s ‘J-HEITﬁ, ‘The whole nine yards’ DI 4873 %@TGITHT%, ‘Nine yards are long’ DI 7315 ﬁ‘l@@’f?ﬂ%l 3?3’)3[3 e o
‘yards nine’ B IS T2

Options :

1.¥37

2. % 58

3.% 45

4. % 71

Question Number : 12 Question Id : 54062624084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MAYANK is written as ‘FRNTEZ’. What is the code for ‘TROPED’ in that code language?
Options :

1. % MICIVS

2. % NIDIVS

3. ¥ MIDIVS

4. % MIDVIS

Question Number : 12 Question Id : 54062624084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRY Brs HIWT & ‘MAYANK’ &1 ‘FRNTEZ’ foRal SITd1 81 $9 1€ HINT § ‘TROPED’ P HIS T 82
Options :

1. ®* MICIVS



2. # NIDIVS
3. ¥ MIDIVS
4. % MIDVIS

Question Number : 13 Question Id : 54062624085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘LOBSTERD’ is written as ‘ALQHIVGW’. What is the code for ‘GRAMBOAT’ in that code language?
Options :

1. % VIPNQLPG

2. % VPINQLPG

3. ¥ VIPQNLPG

4. ¥ VIPNQLPG

Question Number : 13 Question Id : 54062624085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfRIY IS U H, ‘LOBSTERD’ &1 ‘ALQHIVGW’ foRal ST 81 39 BIS HIWT H ‘GRAMBOAT® &1 H1S FIT 82
Options :

1. # VIPNQLPG

2. # VPINQLPG

3. # VIPQNLPG

4. ¥ VIPNQLPG

Question Number : 14 Question Id : 54062624086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven boys L, M, N, O, P, Q and R are sitting around a circular table facing towards the centre (not necessarily in the same order). M is second to
the right of N. O is third to the left of N. R is not the immediate neighbour of M. Q is third to the right of R. L is third to the left of P. Who is to
the immediate left of Q?

Options :
1.¥ N



2. M
3. L
4. % R

Question Number : 14 Question Id : 54062624086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TSP L, M, N, O, P, Q IUT R % DI 3R T FReh Udh JAIBR Aol & 36-11G 96 §U B (e Ta! B 34T ovH H 1) | M, N & it 3R
TRVHFAWRGI 0, NP I R AWM VMW I R, M BT Adhedd TSR T8I 81 Q, R & SR IR TRR ™M W B L, P & IR 3R deR
AR QP R Irff 3R B 72

Options :

1.¥N

2. % M

3.8 L

4. % R

Question Number : 15 Question Id : 54062624087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A committee of five members is to be formed from four males members M1, M2, M3 and M4 and four female members F1, F2, F3 and F4. If M3
is selected, then F1 should be selected. If F3 is selected, then M2 should be selected. If F4 is selected, then neither M1 nor M2 can be selected. If
F2 is selected, then neither F3 nor M3 can be selected. Who among the following may be selected?

Options :

1. # M2, M3, M4, F2 and F4
2. % M1, M2, M3, Fl and F3

3. % M1, M2, M3, M4 and F3
4. % M1, M2, M3, F2 and F1

Question Number : 15 Question Id : 54062624087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TEY Fe= M1, M2, M3 TUT M4 TT IR AfGE &l F1, F2, F3 T F4 § J Ui Yol & U AHfd ST ST 8 | afd M3 &1 AT



ST 8, o F1 &1 AT o1 ATfg € AfG F3 I 1 Il g, df M2 &1 1 ST Aifgd | Al F4 &1 AT SI1a &, A1 181 M1 T 81 M2 DI AT ST
T g1 TS F2 &1 AT ST 8, a6 AT 8 F3 A1 81 M3 &) A1 ol obll g | Fgfeiiad & @ forg g1 o ahe 82

Options :

1. % M2, M3, M4, F2 TYT F4

2. ¥ M1, M2, M3, F1 AT F3

3. % M1, M2, M3, M4 T4 F3

4. % M1, M2, M3, F2 QT F1

Question Number : 16 Question Id : 54062624088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons J, K, L, M and N likes one shirt from S1, S2, S3, S4 and S5. No two persons like same shirt. J likes S3. L don’t like odd numbered
shirt. K likes even numbered shirt.

Which of the following statement(s) is/are correct?
I. M likes either S1 or S5.
II. N likes S2.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 16 Question Id : 54062624088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uig Afadd J, K, L, M AUTN S1, S2, S3, S4 9UT S5 § T Th HHIS UG P & | Big i &) afeaal ol UM SIS S Tel g1 J Bl $3 TS
21 L P fawe T arell e ueie 7l 21 K &1 99 S-AT arell HHIS U¥E 2|

fafeiad 7 @ o I/ Hu= I8 /82
L MBI ATl 13T S5 TG g

IL N & S2 U34S g

Options :




1. ¥ Had I
2. % HAd I
3. % [QUT I gl
4. % 1B

Question Number : 17 Question Id : 54062624089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marks of seven boys B1, B2, B3, B4, B5, B6 and B7 are compared. Marks of B4 are more than minimum four boys. Number of boys having
more marks than B4 are same as the number of boys having less marks than B3. Marks of B2 are less than B3 and B7 but are not least. Marks of
no two boys are same. If marks of only B5 and B6 are more than B4, then which of the following sequence cannot be correct?

Options :

1. %* BI<B5<B6
2. % B2<B7<B4
3. % B2<B6<B5
4. ¥ B3<B2<B6

Question Number : 17 Question Id : 54062624089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td @8I B1, B2, B3, B4, BS, B6 AUT B7 & 3! &1 JaT &1 T g | B4 & 3 HH U HH IR dSd! U HUH g1 B4 Y S 3 aral
TS B! TSN B3 W HH 3 IT0l ASH| D1 AT & UM 8| B2 & b B3 AU B7 W HH g Al TAdH ol & | B3 off &) TS| & 3f
T 81 81 afe Had B TUT B6 P 3 B4 T 31 B, @ Fufefad & ¥ & a1 3igehH Te! 721 81 Tebdl 82

Options :

1. ®* BI<B5<B6

2. % B2<B7<B4

3. % B2<B6<B5

4. v B3 <B2<B6

Question Number : 18 Question Id : 54062624090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Nine girls A, B, C, D, E, F, G, H and I are sitting around a circular table facing towards the centre (not necessarily in the same order). C is third to
the left of I. Three girls are sitting between C and D. Three girls are sitting between D and F. F is to the immediate left of C. B is third to the right
of A. H is third to the left of E. D is not to the immediate left of E.

Which of the following statement(s) is/are not correct?
I. I is not the immediate neighbour of A and D.

II. B is to the immediate right of D.

III. F i1s third to the right of B.

IV. C is fourth to the left of D.

Options :

1. ¥ Il and IV
2. % I, I and III
3. % Only I

4. % Only 1

Question Number : 18 Question Id : 54062624090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A @Sl A, B, C, D, E, F, G, HAUT 1 & B 3R JW B Teh albR Hel & $4-A1E 9t §3 & (TRl 781 1 3 pH A | €, 1 b Il
R TR WM W g1 C TUTD & TeA A TSfhal 9ol § o | D TUTF & AL 19 ASfbal Sl g3 & | F, C & gid St iR 81 B, A & gt
IR TR VMW H, E S IR 3R TR RIM W B D, E & R I1T 3R T8I ]

fafafed & 4 oF I/ Sy I8 T8 8780
1.1, A YT D & bedr Usii 78t g

II. B, D % qRd aiil iR g

1. F, B & Gt 3R iR ™M R g

IV.C, D % S1ff iR T RIM W g

Options :

1. #® [IdUriv
2. % 1 11 dYTIII
3. % Dhad Il

4. Had

Question Number : 19 Question Id : 54062624091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some R are P.
II. No P is W.

Conclusions:
I. NoWisR.
II. Some W are not P.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 54062624091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy ¥ 58 U 3R 39D 918 31 Bl R SMUTRT & (shs U T | 3T T Hy=1 &I 91 A, e 374 AE 1 a2t
T oz 81t feeedf o oik fsR feifa & 6 fou o o O fse, fou 71U wyi & SR &R gfaasa g

DHY: %
LPOR,PEI
1. &S i p, w e 81

fsep:
L3 w, RS B
IL.F$SW,PTal gl

Options :

1. % acl ey [ STIRU BT 7
2. ¢ Had 56 11 TRV HRaAT R




3. % QIFI S 1 QT 11 3FIRRUT X &
4. % B 1 FIspy SR TS BraT g

Question Number : 20 Question Id : 54062624092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. No A is B.
II. Some B are P.

Conclusions:
I. Some B are not A.
II. Some P are not A.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 20 Question Id : 54062624092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (5hs U MU | 3T T Hy=1 &I 9! AM, 31e 374 AE 1 a2t
T oz 81t feeedf o oik fsR feifa & 6 fou o o O fse, fou 71U wyi & SR &R gfaasa g

HhY:
1. %15 4 A, BRI 5
I. $S B,P gl

.



LS B, ARl gl

IL.FSP,ATE gl

Options :

1. % had (sHY | 38R0 HR §

2. % Had BN 11 IR0 Hal §

3. ¢ G (FISHY [ T 11 SFJR0T 6’ &
4. % DIz W} FIopY SR 8 FRT §

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :

General Ability2

2
540626947
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5406261194
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Online
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062624093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All white are red.
I1. No paper is red.

Conclusions:

I. No red is paper.

II. No white is paper.
II1. Some red are white.

Options :

1. # Both conclusions II and III follows
2. % Both conclusions I and II follows
3. % Both conclusions I and III follows

4. % All conclusion follows

Question Number : 21 Question Id : 54062624093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3 918 31 HUHI IR SUINRG & 56y 3T T4 § | 3T T H2= & 981 A, 918 S8 Qg 1 9
ﬁﬁwﬁmﬁﬁwﬁﬁ@wfﬁnﬁ%ﬁ%ﬁnwﬁqﬁw U T Sy & SMYR R gfaaad g

HY-:
1. gt ghe, A |
1. ®1s i SIS, AT T8 B

frpy-
1. ®Ig Yt AT, HHTS T8 B




IL. PTs H Tha, HITS T8 g
1L $ A1, e g
Options :

1. % QIFI FTSBY 11 T 111 S8R0 & &
2. % QI FSHY [ TT 11 3FJAR0T Rl &

3. % G (FIShY 1 T 111 STER0T B §
4. ¢ G Frsp e SR R §

Question Number : 22 Question Id : 54062624094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. NoKis C.

II. Some A are K.
III. Some M are C.

Conclusions:

I. Some A are not C.
II. Some K are not C.
III. Some M are not K.

Options :

1. % Both conclusions II and III follows
2. % Only conclusion I follows

3. # Only conclusion II follows

4. % All conclusion follows

Question Number : 22 Question Id : 54062624094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 37 HUH IR AUNRG $& 56y 3T T4 § 1 3T T 2= &1 g1 A, 918 S8 Qg 1 9




3 e 811wt frsed ue iR fmR Ruffed &% for o o o1 @ feehd, 3T 7T et & SR R gfaaiTa € |

DHY:

L &S WK, TR
IL. S A, K3l

1. S M, C |

B
LPS A, CTRIEl
L. $S K, C TSI g
L. $S M, K el g
Options :

1. % G FSHY 11 TUT 111 3FI¥R0 Hd §
2. % Had AHY [ IR BT §

3. % Hhad fApY 11 IR0 FRl §
4.« 9} FIoh S SFRRUT Rl §

Question Number : 23 Question Id : 54062624095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. AIl P are B.

II. All C are M.
III. Some B are M.

Conclusions:

I. No C is B.

II. Some M are B.
III. Some P are M.
Options :

1. % Both conclusions I and III follows



2. % Only conclusion I follows
3. % Only conclusion III follows

4. ¥ Only conclusion II follows

Question Number : 23 Question Id : 54062624095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau T Uy H 8 U 3R I 918 31 HUHI IR YRG5 56y 3T T4 § 1 3T T H2= & 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o oik fisR fReiia & i fou o o1 @ fse, fou U sy & smuR &R gfaaa g

HY:
L e BEI
.9 c, Mgl
IIl. $S B, M g |

fsm:

L. ®s W, BRI &I

IL.$S M, BRI

. $S P, M|

Options :

1. % G fISep [ T 111 R0 HRd &
2. % Had 5HY [ IR0 HRl §

3. % Had fAhY 111 3R &l §

4. ¢ I FTSPY 11 SFTERVI HaAT &

Question Number : 24 Question Id : 54062624096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the odd group of numbers from the given alternatives.
Options :

1. % (17,13,5)

2. % (7,11, 13)

3. % (11, 13, 17)



4. % (73,79, 83)

Question Number : 24 Question Id : 54062624096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f2 U fasredt & @ Temsit & favw a9 &l gfu|
Options :

1. ¥ (17,13, 5)

2. % (7,11, 13)

3. % (11, 13, 17)

4. % (73,79, 83)

Question Number : 25 Question Id : 54062624097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

T | AT | 2 4
3 8 [16 | 15
73 | 144 ? | 68

Options :
1. % 44
2.9 40
3. % 48
4. % 56

Question Number : 25 Question Id : 54062624097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau e fasedl O 9 Uy i (2) & RIM WR 3 dTelt Ie &1 gl



13 | ET
B 8 | 16| 15
73 | 144 ? | 68

J
I

Options :
1. = 44
2.9 40
3. % 48
4. % 56

Question Number : 26 Question Id : 54062624098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[f14@2#17=38and 18#35@2=81,then 19 @ 5#2="7
Options :

1. ¥ 90

2. % 92

3. % 94

4. % 96

Question Number : 26 Question Id : 54062624098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 14 @2#17=38AUTI18#35@2=81B,A19@542="2
Options :

1. ¥ 90

2.% 92

3. % 94

4. % 96

Question Number : 27 Question Id : 54062624099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

13, 13,7?,39,97.5,292.5
Options :
1. %175
2. % 16.5
3. % 185
4. 19.5

Question Number : 27 Question Id : 54062624099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy & &Y 1S Yaen § 9V g 3id J1d DI

13,13, ?,39,97.5,292.5
Options :
1. % 175
2. % 16.5
3. % 185
4. 19.5

Question Number : 28 Question Id : 54062624100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Red, Black, Yellow
Options :

OO
(J

1. ¢




Question Number : 28 Question Id : 54062624100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 W AT ot =i fau U 3 & ot & Ay o1 Tt ey w1 g |

AT, DT, Uil
Options :

1. ¢

00
O
©
Cy




Question Number : 29 Question Id : 54062624101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many grapes are orange?

Green
Orange 9 16
~

11 8 4 I

Grapes

Options :
1. % 15
2. % 14
3.9 12
4, % 8

Question Number : 29 Question Id : 54062624101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fepa SR, TR 82



mg 16

Options :
1. % 15
2. % 14
3.v 12
4. % 8

Question Number : 30 Question Id : 54062624102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many red are tyre?

2 Tyre

N7 16\ 3 //Celmu

>< >< | Red

N2 /7N

Options :
1.¥ 11
2. % 14



3.% 3
4, % 27

Question Number : 30 Question Id : 54062624102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frda o1, TRR &2

Options :
1.+ 11
2. % 14
3.%3
4, % 27

Question Number : 31 Question Id : 54062624103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are not correct?



Round
Hot

Water

I. Number of hot which are neither water nor round, are 8.
II. Total number of water are 41.

Options :

1. % Only I

2. % Only II

3. # Both I and II
4. ® Neither I nor II

Question Number : 31 Question Id : 54062624103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U SRE & YR IR, Fofif@d & &9 91/A HuF 9e 981 2787




LIS AT A oA g A8l M 5, P S8 & |
I 56 &1 ol 9T 41 B |
Options :

1. % Had 1
2. ¥ Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 32 Question Id : 54062624104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are not correct?

Big
4\ 8

Ce

13 1% 1 s

/\l/\(ﬂikc
6

I. Number of big which are bike, are 10.
II. Number of car which are only big, are 14.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 32 Question Id : 54062624104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fw T amd F SMyR W, Fafafed § 3 o 91/ w3 I8 T8 378
TN

13 1/ \ ) | R

a—

e

6
1. 98 §Q S d15 ©, B! I 10
1. 98 BR Sl had gl 8, b IJT 14 B
Options :
1. % Had 1
2. % Had Il
3. [ QYT ISl

4. % Il 1T I

Question Number : 33 Question Id : 54062624105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

5 Y

Options :

RRER
ERR
R R

1. ¢




Question Number : 33 Question Id : 54062624105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T ATHA < TS SHfaal & THH 72

6 Y

Options :

RRERE
ERR
R R




Question Number : 34 Question Id : 54062624106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

T 3

-
£
L3
:

Question Number : 34 Question Id : 54062624106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B I Spia § 7S P iaal & THH 82

T 3

Options :
L3
.

Question Number : 35 Question Id : 54062624107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :



1. #®

2.¢

Question Number : 35 Question Id : 54062624107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRaa uy . fau 7 fawedl & 9 favm sefa o1 gu

Options :
- B
—
1. %



Question Number : 36 Question Id : 54062624108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

= o L+] g o oo on o =]
o - X-] o 7
Options :
o__a
1.
o__a




J.‘hl:l

3. %

I:I'V

Question Number : 36 Question Id : 54062624108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(::) & St 3R &t eft & sngpfaat fordt adh/fomaddy I Tefda 71 38 A fawedi § 9 () & ol 3R I0MH adb/fAam/Asy iR sramia
T Ppid B |

A o o A A a
o oo o

?
o oo o

Options :

o

3,

e,

e,

e,




Question Number : 37 Question Id : 54062624109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the given figure?

Options :
1.+ 10
2. % 12
3.% 11
4, % 13

Question Number : 37 Question Id : 54062624109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7T S far H fabe Agu 2

Options :
1.4 10
2. % 12



3.% 11
4. % 13

Question Number : 38 Question Id : 54062624110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three positions of a dice are given below, what can come on the adjacent faces to the face containing ‘K’ on it?
LLL,S
II. G,R

S D S
W e

3. % BothIandII
4. % Neither I nor 11

Question Number : 38 Question Id : 54062624110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 T U Bt o et eIl Wi €, K g aw o] A | IR ol 3T el 67

2. % BHad I



3. % 1dUT I Sl
4. % qTEIIATRIII

Question Number : 39 Question Id : 54062624111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

4
A
01\ A
B
Options :
b4
N
1 ® I. - I]
E O
)
2 23 I": D
Er O
&
i
N
4 " |l - I]

Question Number : 39 Question Id : 54062624111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& T YT BT AB AT TR T ST, Al & T8 ITR MTH Tl H F B Y 1epfa Uy Sepfa o1 Tgt ufafad grfte

A

&

Fa]

Ofj\A

B

Options :

2

[=%
1%‘,3'.:: I]
E .

9
2:;;,5'1': D
E;:: O

&
L« WEND)

Z

[
. » Wl

Question Number : 40 Question Id : 54062624112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?



Options :

] % &

2. v &

3_23.1!___....._.....

4.23.&................

Question Number : 40 Question Id : 54062624112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Uy P adl | fCETT SFAR HTS & HISHR ©a- aul Wi & a6 98 [y SR AP ol &g g

TI

t*‘?\’ﬂ"é

Options :



"0eo()
0=0
1. % 00,
Mil=1iM
0 0O
. 050,
70 c:o ﬂlv
0 0
3 % ﬁ.C':UA
Mil=11}
0 0
. « LOS0,
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Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062624113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pavagadh fort is located in which state?
Options :

1. # Haryana

2. # Jharkhand

3. # QOdisha

4. ¥ Gujarat

Question Number : 41 Question Id : 54062624113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qrarTe e feg s § fRua g2

Options :

1. % giamom
2. % RIS
3. % afifg=m
4. % ToRId




Question Number : 42 Question Id : 54062624114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bathukamma festival belongs to

Options :

1. ¥ Telangana

2. % Haryana

3. ¥ Manipur

4. % Kerala

Question Number : 42 Question Id : 54062624114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IgPMAER 9 IERE gl
Options :

1. ¢ T

2. % giamon

3. % OUQR

4. % PR

Question Number : 43 Question Id : 54062624115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a bowed lute played by the manganiars of west Rajasthan.
Options :
1. ¥ Kamaicha
2. % Toomba
3. ¥ Nadaswaram
4. ¥ Jhanj

Question Number : 43 Question Id : 54062624115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TS ORI & THER THER §RT §-RA ST arelt ion 5|
Options :
1. ¥ ST
2. % JHIT
3. % ARy
4. % I

Question Number : 44 Question Id : 54062624116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of festival — State is/are correct?

I. Solung — Arunachal Pradesh
II. Sarhul — Jharkhand

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 44 Question Id : 54062624116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I - AIER &1 Fafeiied 3 @ &9 /8 gm 98 8782

. T - PUTad U=l
1. TRE - IRES
Options :

1. % Bad |
2. % BHad 11
R AGLIIEGI




4. % ATEIIATSII

Question Number : 45 Question Id : 54062624117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the market value of all the goods and services produced in the country during a year is called?
Options :

1. ¥ GDP

2. % GNP

3. ¥ NNP

4. % GVA

Question Number : 45 Question Id : 54062624117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I8 & GRM o/ & IdTed gy axgsl 3iR Yarsfi &1 SR Hed 1 Heardl o7
Options :

1. ¢ St Sl

2. % ST

3. % TATAL

4. % ST

Question Number : 46 Question Id : 54062624118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, Goods and Services tax (GST) regime was implemented from
Options :

1. #* 1st April 2015

2. % 1st July 2017

3. % st June 2015

4. % st March 2017



Question Number : 46 Question Id : 54062624118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URd H o] Ud I HR (ST TaRIT T ar ferar T j |

Options :

1. % 130 2015
2.V 1 1% 2017

3. % 152015
4. % 1972017

Question Number : 47 Question Id : 54062624119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of GDP at the constant set of prices (or constant prices) is

I. Nominal GDP
II. Real GDP

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 47 Question Id : 54062624119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRR ged & e (@1 RR Ie) R Sied &1 71 gl

1. AT St
1. IRAfd Sitard!

Options :

1. % Had |



2. ¥ Had Il
3. % [ 3R 11 Sl
4. % AL ATA

Question Number : 48 Question Id : 54062624120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding Reserve Deposit Ratio (RDR)?

I. Banks use this reserve to meet the demand for cash by account holders.
II. Reserve Deposit Ratio consist of vault cash in banks and deposits of commercial banks with RBI.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 48 Question Id : 54062624120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafiad Sy=/By § B 91/ SRR ST SFUTd (SIRSIR) & a1 7 T 2782

1. §% WIAYRD! GRT TS B! AN B IR HRA & ol 39 R [ 1 ST Hd g |
11. SRTET ST SUTd | dhf o U dTee/[AeiR] & 39 o6 3R YR RKod 8% H i dabi & 39 o T =M 5

Options :

1. % Had |

2. % Had I

3. ¢ 1 3R 11 g
4, % A LATA N

Question Number : 49 Question Id : 54062624121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding Marginal Standing Facility (MSF)?

L. It is one of the instruments of monetary policy of India.
II. It provides a safety valve against unanticipated liquidity shocks to the banking system.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 49 Question Id : 54062624121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffad sy/pyEl 1 B 918 Swid wrh giaur (eHuaee) & Sy § 98 2782

. 98 YRd &1 Aifgd i & Il § 9 T g
11. 98 ST JuITelt &1 YR Ty Sed & RIAs U JRaf ded YeH HRdl g

Options :

1. % Had |

2. % Had II

3. ¢ 1 3R 11 g
4. % AL AT

Question Number : 50 Question Id : 54062624122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If mass of body on earth is 10, then weight is kg.
Options :

1. % 45

2. % 90

3. % 49

4, ¥ 98



Question Number : 50 Question Id : 54062624122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe ot s o1 Soqd™ Pl | 10 8, A IR B ]l
Options :

1. % 45

2. %90

3. % 49

4.9 98

Question Number : 51 Question Id : 54062624123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a concave mirror, when object is at infinity, then the position of image is
Options :

1. #* atinfinity

2. % between F and C

3.% atF

4. % atC

Question Number : 51 Question Id : 54062624123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3faad auul §, ofd f4d 3fFd IR giaT 5, df ufdfdd &t R g gl
Options :

1. % FAdWR

2. % FAYICH &

3.9 FIR

4. % CWR



Question Number : 52 Question Id : 54062624124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Birds excrete uric acid in semi solid form.
II. In plants, foods is transported by phloem.

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 52 Question Id : 54062624124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PraffEd 3 A 319 918 HUF 98 8780

1. Geft 31ef o =0 T g 3 T SToi Hd ¢ |
11, UefT & HISH eileH g1 uRafgd gl gl

Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 53 Question Id : 54062624125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is/are correct?

I. Hydra — Binary fission
II. Amoeba — Budding

Options :



1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 53 Question Id : 54062624125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 9 oH 91/8 g 98 8/6?

1. 8139l - fagsd

11 3(HIET - par
Options :

1. % $had |

2. % Had I

3. % [ qUTI M

4. A IAE I

Question Number : 54 Question Id : 54062624126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The width of Himalayas in Kashmir is about km.
Options :

1. % 500

2.9 400

3. % 300

4. % 600

Question Number : 54 Question Id : 54062624126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feHTerd Bt ASTE HIHR | ATHT .t g1



Options :
1. % 500
2.9 400
3. % 300
4. % 600

Question Number : 55 Question Id : 54062624127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The outer-most range of the Himalayas is called the
Options :

1. #® Vindhyachal

2. ¥ Shiwaliks

3. # Outer range

4. % Himadri

Question Number : 55 Question Id : 54062624127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R IGREIRCREIREC NI HET a5
Options :

1. % fderae

2. ¢ fRrarfeis

3. ® QTG @l

4. % fgaTe

Question Number : 56 Question Id : 54062624128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are tributaries of Krishna?

I. Must



II. Bhima
I1I. Koyna

Options :

1. ® Tand II

2. % Il and III
3. % TandIII

4. % 1, 1I and III

Question Number : 56 Question Id : 54062624128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § § o1 I $O1 B Jgs Afedl g2

1. gt
1. Wi

111 DI
Options :

1. % 14Ut

2. % I dYUTIII
3. % [dYTIII

4. 1 11 dYTIII

Question Number : 57 Question Id : 54062624129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following tree is found in tropical deciduous forest?

I. Shisham
II. Sandalwood

Options :

1. % Only I

2. % Only II

3. % Both I and II



4. % Neither I nor 11

Question Number : 57 Question Id : 54062624129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & o a1 os Iwr sfeddt guurd o & urar Sidr 82

I.Eﬂ_?zm

11. Tgq

Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 58 Question Id : 54062624130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are coal producing area(s) in India?

I. Raniganj
II. Jharia
II1. Bokaro

Options :

1. * Tand II

2. % Iland III
3. % land III

4. ¥ 1,11 and III

Question Number : 58 Question Id : 54062624130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeEd & @ 19 91 YRd &1/ Sl IATGH & 8/8?



1. XIS

1. I
111, SR

Options :

1. % 1dYT 11

2. % I dUTIII
3. % 1dYTIII
4. 1 11 dYT 1T

Question Number : 59 Question Id : 54062624131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who did the partition of Bengal?
Options :

1. % Louis Mountbatten

2. % Charles Canning

3. ¥ Viceroy Curzon

4. % Lord Simon

Question Number : 59 Question Id : 54062624131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 1 fayToH foee fosar um
Options :

1. # 29 ATdcded

2. % I BT

3. ¢ ORI o

4. % TS gsH

Question Number : 60 Question Id : 54062624132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
prepared a grammar for Sanskrit.

Options :

1. ¥ Gautam

2. % Raghuvir

3. % Panini

4. ¥ Omkar Shastri

Question Number : 60 Question Id : 54062624132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 TP d U & STH B I DI B |
Options :
1. % 7™
2. % IYAR

3. ¢ OO
4. % 3fABR ARl

General Awareness2
Group Number : 4
Group Id : 540626949
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness2

Section Id : 5406261196
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261424
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062624133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
defeated Ibrahim Lodi at Panipat in 1526.

Options :

1. ® Shahjahan

2. % Humayun

3. ¥ Babur

4. % Akbar

Question Number : 61 Question Id : 54062624133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

71526 B ST |Ict ol UG SR T
Options :

1. % SMEoTg!

2. % gAY

3. ¥ dlaR

4, % 3{DdA



Question Number : 62 Question Id : 54062624134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the first cotton mill was setup in India?
Options :

1. % 1856

2.9 1854

3. ® 1865

4. % 1846

Question Number : 62 Question Id : 54062624134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore ot # YRd & ugel It HUST A &t w1 g3 o
Options :

1. % 1856

2.9 1854

3. % 1865

4. % 1846

Question Number : 63 Question Id : 54062624135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Calico Act passed in England?
Options :

1. ® 1725

2.% 1720

3. % 1715

4. % 1723

Question Number : 63 Question Id : 54062624135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hicren! fom $icis o ford o & UTid fopd TTQ 2
Options :

1. % 1725

2.% 1720

3. % 1715

4, % 1723

Question Number : 64 Question Id : 54062624136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Indian woman to win the Nobel Peace Prize?
Options :

1. # Indira Gandhi

2. * Sarojini Naidu

3. ¥ Mother Teressa

4. % Arunima Sinha

Question Number : 64 Question Id : 54062624136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e M REBR Siia- aTelt gt HRdg Afgar & At
Options :

1. % gfer et

2. % RIS 1ag

3. ¢ HeR &

4. % 3T gt

Question Number : 65 Question Id : 54062624137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who is the author of the book ‘A Promised Land’?
Options :

1. ¥ Barack Obama

2. # Anna burns

3. % Haruki Murakami

4. ¥ Devdutt Pattnaik

Question Number : 65 Question Id : 54062624137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T MRS A0S & oGP D 57
Options :

1. ¥ RIS SMSTHT

2. % 3 T

3. % GRodh! YRIBTH!

4. % ¢dcd UcAD

Question Number : 66 Question Id : 54062624138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In September 2021, which of the following institution has launched ‘Project Udaan’, that enables translation of textbooks and other study
material?

Options :

1. # IIT Delhi

2. ¥ IIT Bombay
3. # IIT Kanpur

4. # TIT Kharagpur

Question Number : 66 Question Id : 54062624138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RydeR 2021 #, Ffeiad & I fog TR 7 Uioiae IS’ AT a1 S UTeaqRdd! 3R 37 37eqg IRl & 3dle &I Y& §-1dl 82




Options :

1. % 3. 3778 1. faeeh
2. ¢ 3MT%.3MM5.C1. das

3. % 3TE.3M%.1. HHER
4. % 3fT3.37M5.C1. WSTR

Question Number : 67 Question Id : 54062624139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, New Development Bank (NDB) was established?
Options :

1. % 2017

2.9 2014

3. % 2018

4. % 2019

Question Number : 67 Question Id : 54062624139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J 3gqude d (T34, fow oot & wrfid foram mam ar
Options :

1. % 2017

2.9 2014

3. % 2018

4. % 2019

Question Number : 68 Question Id : 54062624140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has been appointed as the new Chief Justice of India in 2021?
Options :



1. # Ajay Tyagi

2. # Sharad Abode
3. % N V Ramana
4. ¥ Rakesh Saxena

Question Number : 68 Question Id : 54062624140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 ¥ YR & T8 T A & ¥U H fd g fear man ge
Options :

1. % 3forg ANt

2. % TR< (IS

3. ¢ QAL AT

4. % [HY FRH

Question Number : 69 Question Id : 54062624141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In August 2021, which state government of India launched ‘Har Hith Store’ scheme to wipe out unemployement by 20247
Options :

1. # Uttar Pradesh

2. % Bihar

3. #® Jharkhand

4. ¥ Haryana

Question Number : 69 Question Id : 54062624141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 B, URd B! fobd AT WRBR H 2024 dPh SRISTRT BT BT B o AT gR fgd TR A1 = D2
Options :

1. % SWUSY




2. % f98R
3. % RIS
4. « gieamon

Question Number : 70 Question Id : 54062624142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian city has been declared as the first ‘water plus’ city of India under the Swachh Survekshan 2021?
Options :

1. ¥ Indore

2. % Ahmedabad

3. ¥ Mysore

4. #% Pune

Question Number : 70 Question Id : 54062624142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & 3 fog YRAR W8 Y Ta=3 JA&TU 2021 & dgd HRd DT Ugdl “drex Wl e v fosar mar g2
Options :

1. ¥ EER

Question Number : 71 Question Id : 54062624143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country has topped the Environment Performance Index 2020?
Options :

1. # China

2. % Denmark



3. # France

4. * Luxembourg

Question Number : 71 Question Id : 54062624143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o SR 9 2020 FT SARRITHE IRHRAY USRI €T foha g2
Options :

1. % 9

2. ¥ STHID

3. % g

4. % AITHSH]

Question Number : 72 Question Id : 54062624144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with duration of houses of parliament?
Options :

1. ¥ 83

2. % 80

3. % 81

4. % 84

Question Number : 72 Question Id : 54062624144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT DI AT S5e TG P G- B e I Jaerd g2
Options :

1. ¥ 83

2. % 80

3. % 81




4. % 84

Question Number : 73 Question Id : 54062624145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with rules of court?
Options :

1. #® 140

2. ¥ 145

3. % 143

4. % 142

Question Number : 73 Question Id : 54062624145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &1 D AT Sfwse Aed & Fod ¥ J6fid g2
Options :

1. # 140

2.¥ 145

3. % 143

4. % 142

Question Number : 74 Question Id : 54062624146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following subject(s) is/are mentioned in the state list?

I. Intoxicating liquors
II. Relief of the disable and unemployable
1. Agriculture

Options :
1. ®# Tand II
2. % JTand III



3. % [T and III
4. 1,11 and 111

Question Number : 74 Question Id : 54062624146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifed 3§ @ 1 91/ fvg/fvdl &1 Seokg g g2t # 8782

1. TG farar
11. - <ra iR o & fore eraiv safaaal ot ggran

1L $Y

Options :

1. % 1dYT 11

2. % 1 dYTIII

3. % IIdYUTIII
4. 1 11 dYT 1T

Question Number : 75 Question Id : 54062624147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With respect to the Indian constitution, which of the following pair is/are correct?

I. Tenth Schedule — Validation of certain Acts and Regulations
II. Ninth Schedule — Provisions as to disqualification on ground of defection.

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. ¢ Neither I nor II

Question Number : 75 Question Id : 54062624147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR Hfayr & de # Fafifad & 3 o 91 g 98 8/a?

1. TYa ST - $o SfAfgwt SR fafam &1 fafmmrexo
1. &t ST - G TRac & SMYR W g & IR & IuaY
Options :

1. % Had 1

2. % HAdII

3. % [ UGl

4. TRIIATRII

Question Number : 76 Question Id : 54062624148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICC Under 19 world cup is held every years.
Options :

1.2

2. %3

3.% 4

4. % 5

Question Number : 76 Question Id : 54062624148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T . 3{USR 19 IS HY YD Iy & rAford BT 5|
Options :

1.¥2

2.%3

3.% 4

4. %5

Question Number : 77 Question Id : 54062624149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which country finished at 3rd place in 2018 Hockey Women's World Cup?
Options :

1. ¥ Spain

2. % Germany

3. # England

4. % Ttaly

Question Number : 77 Question Id : 54062624149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 Bid! Al fay HU & DI AT <= AR RIM W IBT?
Options :

1. ¢ W

2. % SHA

3. % $cls

4. % gcdl

Question Number : 78 Question Id : 54062624150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 4th test match of India tour of Australia 2021 was played at
Options :

1. # Sydney

2. ¥ Brisbane

3. ¥ Melbourne

4. ® Adelaide

Question Number : 78 Question Id : 54062624150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd BT SRSTOrAT GR 2021 BT 4 YT X T o e T |



Options :

1. % Ryt
2. ¢ foaA
3. % O
4. % Ufsds

Question Number : 79 Question Id : 54062624151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sports — sportsperson is correct?

I. Hockey — Manpreet Singh
II. Cricket — Mansi Joshi

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 79 Question Id : 54062624151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O - RarSt o1 Fafead § 9 & w1 g U8l 82

1. il - HYId Rig
11. fohdbe - AT St
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % FrAIATA



Question Number : 80 Question Id : 54062624152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sports — sportsperson is correct?

I. Cricket — Geraint Jones
II. Football — Harry Kane

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither [ nor II

Question Number : 80 Question Id : 54062624152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - Fare) &1 Rl & ¥ 19 91 gm I8t 82
1. fohdhe - TR S

IL. edid - <1 P
Options :

1. % Had |
2. % Had I
3. ¢ 1 AU Gl
4. ® AT

Arithmetic Abilityl

Group Number : 5
Group Id : 540626950
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 5406261197
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261425
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062624153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1 1 1
What is the value of + + i Vs

Ixd d%7 Txi0 Oxi3

Options :
1
| % 13

12
13



3

3 % 13

4

sv 13

Question Number : 81 Question Id : 54062624153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1 1 1

+ + + =T FT
14 4xT Tx10 10x13 2 %ﬁ

Options :
1

« 13
12

13

3
3 % 13

4

sv 13

Question Number : 82 Question Id : 54062624154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the value of (1.1)* + (0.01)2 + (0.001)2 ?

Options :

1. % 1.210101
2. % 1.02101
3. % 1.21101
4. % 1.2101

Question Number : 82 Question Id : 54062624154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(1.1)* + (0.01)2 + (0.001)* =T AT FAT ?’7
Options :
1. ¥ 1.210101
2. % 1.02101

3. % 1.21101
4. % 1.2101

Question Number : 83 Question Id : 54062624155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

1 1
RIS A T

g, 8 9
I —->—>—
7 11 25
Options :
1. % Only I

2. % Only II



3. ®* BothIand II
4. % Neither [ nor 11

Question Number : 83 Question Id : 54062624155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffEd 3 3 &9 918 HuF 98 8/

1 1
MR A TE

i 2l
7 H 25

Options :

1. ¥ $had |

2. % Had II

3. % [ QYT G

4. % ATBIIATSII

Question Number : 84 Question Id : 54062624156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 15+30f12+5x3-4x6+3 ?
8534 =6 +5x15=-3+4x12=3

Options :
56

| % 357
179

, u 312



&9
3 672
172

4, % 293

Question Number : 84 Question Id : 54062624156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
15+30f12+5x3—-4x6+3
85 +34x6+5x15+3+4x12+3

T AT &7 27

Options :
56
| % 357

179
312

89
3 672
172

4, % 293

Question Number : 85 Question Id : 54062624157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. 10012 is the smallest five digit number which is exactly divisible by 8, 9 and 12.
II. The largest number which can exactly divide 112, 140 and 210 is 14.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 85 Question Id : 54062624157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 &1 91/8 Y 98l §/8?

1. 10012 T8 5 3P B! JGU BT GBAT &, SN 8, 9 7T 12 ¥ Yuid: fqursa g
1. 98 a9 FS1 TJAT ST 112, 140 TUT 210 FI guld: fauiforg w8, 98 14 B

Options :

1. % Had I
2. ¢ HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 86 Question Id : 54062624158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of an article is Rs. 2400. If a discount of 24 percent is given, then what is the selling price of the article?
Options :

1. ¥ Rs. 1824

2. % Rs. 1846

3. ¥ Rs. 1924



4. * Rs. 1936

Question Number : 86 Question Id : 54062624158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh %] 1 SHfobed Hed 2400 393 B 1 UG 24 UfA=1d 1 e ol T 8, o o b1 fasha e a1 82
Options :

1. ¥ 1824 30

2. % 1846 34U

3. % 1924307

4. % 1936300

Question Number : 87 Question Id : 54062624159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 3 consecutive odd numbers is A. If next 2 and previous 3 odd numbers to these 3 odd numbers are also included, then what will
the average of these 8 consecutive odd numbers?

Options :
. % A+2
2.% A+3
3. % A+1
4. ¥ A1

Question Number : 87 Question Id : 54062624159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 HANTT fauH TBsii &7 3d A § 1 afe 37 3 favw Tamsft ot 3rTel 2 dut s 3 faww Twemsii & +f wfia e srar g, dv g s
HANTT favH T=Am3il 7 3igd &1 g2

Options :

. % A+2

2. % A+3

3.% A+1




4.9 A-1

Question Number : 88 Question Id : 54062624160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of a car is Rs. 850000. Rahul buys that car at two successive discounts of 20 percent and 30 percent. If he sells the car for Rs.
500000, then what is the profit percenatge?

Options :

1. # 8.89 percent
2. # 6.85 percent
3. % 5.85 percent
4. ¥ 5.04 percent

Question Number : 88 Question Id : 54062624160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR &1 3Hfhd e 850000 TUU g | G IH HR 1 20 UFARIT TUT 30 U= Bt & Hitd el R Wiedl g1 Al I8 BR BT 500000
SO0 B §9 a1 g, Ay fasrd Fn g

Options :

1. % 8.89 gfa=rd
2. % 6.85 Ufa=rd
3. % 5.85 gfawrd
4. ¥ 5.04 Ufa=rd

Question Number : 89 Question Id : 54062624161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 percent of 60 percent of a number is equal to 180. What is the 45 percent of that number?
Options :

1. ¥ 1350

2. % 1250

3. % 1450



4. * 1150

Question Number : 89 Question Id : 54062624161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forlt =B & 60 TTRTA T 10 UTCIRT, 180 & SRT6R 5 | 3 HBHT BT 45 UTI=Td HT 52
Options :

1. ¥ 1350

2. % 1250

3. # 1450

4. % 1150

Question Number : 90 Question Id : 54062624162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of tea increases by 40 percent. If expenditure on tea increases by only 20 percent, then by how much percent consumption should decrease?
Options :

1. * 12.5 percent

2. ¥ 14.28 percent

3. % 16.6 percent

4. % 28.4 percent

Question Number : 90 Question Id : 54062624162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aﬂTfﬁ?%?ﬁmmﬁq@@?ﬁ?I e I IR fod T aTd g B dhad 20 UiARId &1 gfs 81t 8, @ @ud § fora ufa=rd &1 ol
?

Options :

1. ® 12.5 gfa=d
2. 1428 Ufaerd
3. % 16.6 Ufa2d



4. % 28 4 YfawId

Question Number : 91 Question Id : 54062624163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sonu spends 25 percent of his monthly income on food, 25 percent of his monthly income on travelling and 30 percent of his monthly income on
rent. If he saves Rs. 8260 at the end of month, then what is the monthly income of Sonu?

Options :

1. % Rs. 41000
2. % Rs. 42400
3. ¥ Rs. 41300
4. % Rs. 42000

Question Number : 91 Question Id : 54062624163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AL U AR 311 T 25 WA= @1 UaTd UR, 37Ot AR 31T BT 25 UTI=Id IE1 TR Gl S{U-T AR 31 &1 30 Wia=Td foig R d
P18 | IS 98 AR & 3fd A 8260 YT 1 §ad BT 8, dl T b1 RIS AT 182

Options :

1. % 41000 30"
2. % 42400 3T
3. ¥ 41300 39T
4. % 42000 394

Question Number : 92 Question Id : 54062624164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is increased by 20 percent and it becomes B. B is increased by 30 percent and it becomes C. C is increased by 40 percent and it becomes D. If
D = 40404, then which of the following statement is true?

. A+C=47360
II. D-B=18104

Options :



1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 92 Question Id : 54062624164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 20 =1 T SETAT ST 8 TUT B 99 SITdT ¢ | B 30 U T ST SITdT 8 94T C 99 Sl 81 C 40 U= ¥ 91T SiTdl g 94T D & Siidi g |
e D = 40404 B, A FRGfIREd & T o9 91 By T8l 82

[.A+C=47360
II. D-B=18104

Options :

1. ¢ $Had |

2. % Had Il

3. % [ QYT
4. % qEIIATR I

Question Number : 93 Question Id : 54062624165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost price of a cooler is Rs. 9600. If the profit percentage is 8 percent, then what is the selling price of the cooler?
Options :

1. % Rs. 10228

2. # Rs. 9868

3. ¥ Rs. 10368

4. % Rs. 10936

Question Number : 93 Question Id : 54062624165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10228 30

2. % 9868 TYY

3. ¥ 10368 $T4Y

4. % 10936 304

Question Number : 94 Question Id : 54062624166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man buys 21 mangoes for a rupee. How many mangoes had he sold for a rupee so that there is a loss of 30 percent (cost price of all mangoes is
same and selling price of all mangoes is same)?

Options :
1. % 25
2. % 35
3. % 40
4. % 30

Question Number : 94 Question Id : 54062624166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR A 1 TTH 21 AT 1 39 H I fba 3 s g a1feb 30 wfererd 61 g1 81 (et 31 b7 g Hed TAH &t gt
3T 1 faeha Iea THM )2

Options :

1. %25

2. % 35

3. % 40

4. 30

Question Number : 95 Question Id : 54062624167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The difference between cost price and selling price is Rs. 152. If profit percentage is 16 percent, then what is the selling price?
Options :

1. # Rs. 1024

2. % Rs. 1126

3. ¥ Rs. 1102

4. % Rs. 1084

Question Number : 95 Question Id : 54062624167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%0 Yo YT fasha g & AL 152 ¥UT &1 3R 7| Al arH ufa=rd 16 ufazra §, 41 fawa qea s 82
Options :

1. % 1024 300

2. % 1126 %09

3. 1102 309

4. % 1084 30

Question Number : 96 Question Id : 54062624168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader sells an article at the profit of 20 percent. Had he bought that article at 30 percent less price and sold it at Rs. 80 less, then he would have
earned a profit of 30 percent. What is the (approximate) cost price of the article?

Options :

1. % Rs. 3224
2. % Rs. 300

3. # Rs. 325.66
4. ¥ Rs. 275.86

Question Number : 96 Question Id : 54062624168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3224307

2. % 300909

3. % 325.66 30U

4. ¥ 275.86 30

Question Number : 97 Question Id : 54062624169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifx:y=2:5, then What is the value of (5x +y)/(5x —y)?
Options :

l.*5

2.¥3

3.% 4

4. % 2

Question Number : 97 Question Id : 54062624169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e x - y=2:58, A (5x + y)(5x — y) BT HIF T 82
Options :

1. %5

2.¥ 3

3.% 4

4. % 2

Question Number : 98 Question Id : 54062624170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the incomes of P and Q is 5 : 6 respectively and the ratio of their expenditures is 6 : 7 respectively. If they save Rs. 3000 and Rs.
4000 respectively, then what is their total income?



Options :

1. % Rs. 24000
2. % Rs. 33000
3. # Rs. 36000
4. # Rs. 44000

Question Number : 98 Question Id : 54062624170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P TUT Q T 3T T ST HHRT: 5 : 6 8 AU I Y BT U HH: 6 : 7 ¢ | TG T8 HHT: 3000 FYY TUT 4000 3T §ad B &, ol
B! A AT T ]2

Options :

1. % 24000 3UY

2. ¥ 33000 T9

3. % 36000 ST

4. % 44000 39T

Question Number : 99 Question Id : 54062624171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q and R start a partnership. They invested Rs. 120000, Rs. 160000 and Rs. 200000 respectively. They stayed in partnership for 4 years, 2 years
and 3 year respectively. If P’s share in profit is Rs. 24000, then what is the sum of share of Q and R in the profit?

Options :

1. % Rs. 40000
2. % Rs. 48000
3. ¥ Rs. 46000
4. % Rs. 23000

Question Number : 99 Question Id : 54062624171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 40000 3T

2. % 48000 3UY

3. ¢ 46000 ¥TY

4. % 23000 3T

Question Number : 100 Question Id : 54062624172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between simple interest on a certain sum at the annual rate of 10 percent for 7 years and 8 years is Rs. 57. What is the sum?
Options :

1. % Rs. 610

2. ¥ Rs. 570

3. % Rs. 550

4. % Rs. 590

Question Number : 100 Question Id : 54062624172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AT IR WR 10 Ufor=rd &t arfiies g3 7 98 9UT 8 TN & FIYRUT ST B HEH 3R 57 U g | MR A7 82
Options :

1. % 6109

2. ¢ 570 3

3. % 550 %0

4. % 590 3UY

Arithmetic Ability2

Group Number : 6
Group Id : 540626951



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 5406261198
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261426
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062624173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person lent Rs. 16000 to B for 3 years and Rs. 12000 to C for 4 years on simple interest at the same rate of interest and received Rs. 6720 in all
from both of them as interest. What is the annual rate of interest?

Options :

1. ¥ 7 percent
2. % 7.5 percent
3. % 9 percent

4. % 8 percent



Question Number : 101 Question Id : 54062624173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Afdd - B 1 3 aNf & T 16000 TG TAT C BT 4 T o AT 12000 ST TS B THM & I AYRU A R IYR ST qUT G4 A Hd
6720 3T ST & U H U [hT | ST Bi AP a2 a1 82

Options :

1. ¢ 7 gfa=rd
2. % 7.5 gfaerd
3. % 9 gfa=rd
4. % gyfazd

Question Number : 102 Question Id : 54062624174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the rate of interest is 3 percent for the first year, 7 percent for the second year and 10 percent for the third year, then what sum of money at
compound interest will amount to Rs. 4849.24 in 3 years?

Options :

1. # Rs. 4500
2. ¥ Rs. 4000
3. ¥ Rs. 3000
4. % Rs. 3500

Question Number : 102 Question Id : 54062624174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe usd af & o1y SI7e & 3 Tfe=Td &, GER N & fod 7 UfiRid § T oo a o foTg 10 Ufamrd 8, a fasait 11 Iehgfe o7 WR 3 a8 o
4849.24 U Bl SR

Options :

1. % 4500 30
2. ¥ 4000 Y
3. % 3000 ¥9Y
4. % 3500 30



Question Number : 103 Question Id : 54062624175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train is moving at a speed of 20 m/s. What will be the speed of this train in km/hr?
Options :

1. ¥ 72 km/hr

2. # 84 km/hr

3. ® 90 km/hr

4. #® 66 km/hr

Question Number : 103 Question Id : 54062624175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh YS! 20 HI/A. B 71T & =7l 81 8 1 59 el i i fob Y. /eier & o gl
Options :

1. ¢ 72 fob #it diet

2. % g4 fob Ht diet

3. % 90 fob #1 /e

4. % 66 fob Hl det

Question Number : 104 Question Id : 54062624176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 540 metres long train is running at the speed of 54 km/hr. If it crosses a bridge in 54 seconds, then what is the length of the bridge?
Options :

1. ¥ 270 metres

2. % 340 metres

3. % 220 metres

4. % 350 metres



Question Number : 104 Question Id : 54062624176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 540 Hiex T YTt 54 fob. Ht/der &1 1§ 9a W81 ¢ | e 98 U Id Bl 54 YhUs H UR il &, dl ol &1 aiaTs ol g2
Options :

1. ¢ 270 Hicx

2. % 340 Hicx

3. % 220 HIR

4. % 350 Hicx

Question Number : 105 Question Id : 54062624177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bus starts moving with the initial speed of 10 km/hr and its speed increases every hour by 2 km/hr. How much time will it take to cover a
distance of 112 km?

Options :

1. ¥ 7 hours
2. % 9 hours
3. % 11 hours

4. % 5 hours

Question Number : 105 Question Id : 54062624177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 99 10 o5 1. /der ot RIS T1fd I TaT SRY Fall § 9UT S9! 110 & Ud® O 2 fb i et ot g g1t 81 12 [ . ot was gt
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Options :
.¥ 79
2. % 9e
3. % 11%¢
4. % 5E¢




Question Number : 106 Question Id : 54062624178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E alone can complete a work in 15 days. F and G together can complete the same work in 10 days. E, F and G together will complete the same
work in how many days?

Options :

1. # 12 days
2. % 10 days
3. ¥ 6 days
4. % 8 days

Question Number : 106 Question Id : 54062624178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1237

2. % 10feA

3.¥ 6faA

4, % gfad

Question Number : 107 Question Id : 54062624179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S does half as much work as T in 1/8 of the time taken by T. If they together complete a work in 160 days, then how many days shall S alone take
to complete that work?

Options :

1. #= 224 days
2. # 250 days
3. ¥ 200 days
4. * 216 days



Question Number : 107 Question Id : 54062624179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BT DI QR HA o o8 fova G oo

Options :

1. % 224f27

2. % 250 faq

3.+ 200 f&A

4. % 216 e

Question Number : 108 Question Id : 54062624180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q and R working together can complete a work in 7.5 days. Q and R together can complete the same work in 9 days. Which of the following
statement is/are correct?

I. P alone can complete the same work in 60 days.
I1. Efficiencly of P is less than the total efficiency of Q and R.

Options :

1. ® Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 108 Question Id : 54062624180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. ¢ HAd I
3. % [ UGl
4. % qEIIATR I

Question Number : 109 Question Id : 54062624181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Length of a rectangle is 10 cm. Its breadth is 1.5 times of its length. What is the perimeter of the rectangle?
Options :

1. ¥ 50 cm

2. % 60 cm

3. % 30 cm

4, % 25cm

Question Number : 109 Question Id : 54062624181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3MTd B qaTs 10 A, 1 ITD! dISTs SUD! GaTs BT 1.5 0N & | ST 6T TRATT T 52
Options :

1. 50 9.
2. % 60 9HL
3. % 309
4. % 257.H.

Question Number : 110 Question Id : 54062624182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A solid metallic cylinder has radius of base 7 cm and height 21 cm. It is melted to form a cone with radius and height 5 cm and 9 cm respectively.
How much percentage metal was wasted?

Options :
1. % 79.13
2. % 86.43
3.9¥92.71
4, % 96.43

Question Number : 110 Question Id : 54062624182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 31 YT & 9 b YR ! Bsar 7 .. § AT Sams 21 A, g1 3 Fraeme v 5 3. qur o 9.1, B aur $ars aren T
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Options :

1. % 79.13

2. % 86.43

3. ¢ 92,71

4. % 96.43

Question Number : 111 Question Id : 54062624183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of the side of a cube is 1.4 cm. What is the approximate volume of the largest sphere that can be taken out of the cube?
Options :

L 1.44 c¢m

) % 3.26 cm?

5.64 cm?



2.66 cm’®

Question Number : 111 Question Id : 54062624183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP T4 Pt YAl DI dalTs 1.4 J.I. g1 99 F IR FopTal S YhA aTal G oS Tl T ST THTHT 1 82
Options :

1.44 .33
. ¢

5 % 3.26 AT

5.64 T.HY.3

3. %

4 % 2.66 H.#3

Question Number : 112 Question Id : 54062624184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Length of a rectangle is 6 cm more than its breadth. If its perimeter is 48 cm, then length is 15 cm.

II. Area of a circle is 49 T cm?.

If radius of circle = side of square, then diagonal of square is 7V2 cm.
Options :

1. % Only I

2. % Only II

3. % Both I and II



4. % Neither I nor 11

Question Number : 112 Question Id : 54062624184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PraffEd 3 A &9 91/A HuF 98 8/

1. U 3M1d ! daTs 3B AeTs I 6 9.1, 31w 31 afe Suwt ke 48 A1 g, dl ders 15 3. g
1. T I &1 &A% 49 7 9.2 B

I g BT Brear = v BT Yol &, dl ¥ &1 fawof 742 A1 3
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % GBI

Question Number : 113 Question Id : 54062624185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the duration of mobile usage of 5 individuals in a day.

” Duration of mobile
Persons
usage

I1 18

12 12

I3 10

I4 6

I5 9

What is the average mobile usage per person in a day?
Options :
1.+ 11



2. % 125
3. % 10.5
4. %95

Question Number : 113 Question Id : 54062624185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=T <1 it 1Tt 5 JAfaadl gRT T o & Aiesd SUAT & 96T B g 5 |

AESeT 3TATT T
2T
E=p=pi
I1 18
12 12
I3 10
14 6
I5 9

Tfa Afad Ua fad &1 Sid HiaTsd SUART fhaT 82
Options :

1.¥ 11

2. % 125

3. % 10.5

4. % 95

Question Number : 114 Question Id : 54062624186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of papers used by 6 different employees in a month. The number of papers used by each employee
1s shown as a percentage of total papers used by these 6 employees.



Total number of papers used are 500.

A = Difference between the number of papers used by E1 and ES.
B = Difference between the number of papers used by E3 and E6.
What is the value of A : B?

Options :
1. % 3:1
2.9 41
3.%5:2
4. % 5:3

Question Number : 114 Question Id : 54062624186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3:1
2.% 41
3.% 5:2
4 % 5:3

Question Number : 115 Question Id : 54062624187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of medicines sold by 7 medicine shops. The number of medicines sold by each shop is shown as a
percentage of total number of medicines sold by these 7 shops.



Which of the following statement(s) is/are correct?
I. If total medicines are 1800, then difference of S3 and S5 is 198.
II. If S2 is 24, then total medicines are 150.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 115 Question Id : 54062624187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. I $o Garsdl 1800 §, <l S3 TUT S5 T 3fcR 198 B
1L Tfe $2, 24 B, A $of garsal 150 B

Options :

1. % had I

2. % Had I

3. ¢ 1 AUT I A

4. % BB

Question Number : 116 Question Id : 54062624188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows the cost and revenue for 5 consecutive years for a firm.
Profit = Revenue — Cost
Percentage profit = (Profit/Cost) x 100



Years Cost | Revenue
31 5000 5400
X2 5200 5750
Y3 5380 6130
Y4 5600 6620
N5 6150 7140

Which of the following statement(s) is/are correct?
I. Profit percentage in Y3 is 13.94 percent.
II. Profit for year Y4 is 1040.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 116 Question Id : 54062624188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &} et anfereT T wH & T 5 ST ant & fore ARt auT Ied &) <2t ]
ofTH =Xl — I Td

OfA=Id Y = (@TH/ARTd) x 100

Iy e | UAEd

Nl 5000 5400
X2 5200 5750
Y3 5380 6130

Y4 5600 6620
¥ 6150 7140

fofefad & ¥ o I/ Y9 I8t 8/8?



L Y3 T A 13.94 Ufa=id g1
1. Y4 BT dATH 1040 T
Options :

1.« Had 1
2. % HAdII
3. % [ UGl
4. % qEIIATR I

Question Number : 117 Question Id : 54062624189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of doors in 6 houses.

Number of doors

Houses

Number of doors in N are what percentage more than the number of doors in K?
Options :

1. # 40 percent

2. ¥ 66.66 percent

3. % 33.33 percent



4. % 25 percent

Question Number : 117 Question Id : 54062624189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 e T At o 6 R § gRaTSl &bl TS I SRl B

N ¥ gramll &1 e, K H earsii & T § fhae ufawra sifdie g2
Options :

1. % 40 gfa=rd

2. ¢ 66.66 Ufa=Id

3. % 33.33 gfa=rd

4. % 25 gfaerd

Question Number : 118 Question Id : 54062624190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The line chart given below shows the number of curtains in 6 shops.

150

Number of curtains

n J2 I3 J4 J5 J6
Shops

K — Total number of curtains in J5 and J3.
R — Total number of curtains in J2, J3 and J4
What is the value of R — K?

Options :
1. % 240
2.¥210
3. %190
4, % 175

Question Number : 118 Question Id : 54062624190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 240

2.¢ 210

3. % 190

4. % 175

Question Number : 119 Question Id : 54062624191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the average number of articles per shop in 6 consecutive years. There are 5 shops in every year.



340

Number of articles per shop

Y1 Y2 Y3 Y4 Y5 Y6
Years

Which of the following statement(s) is/are correct?
I. Total number of articles in Y3 and Y5 are 1035.
II. Total number of articles in Y2 are 50 more than the total number of articles in Y 1.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 119 Question Id : 54062624191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. % [ UGl

4. FBIIATR I

Question Number : 120 Question Id : 54062624192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows the number of rubbers in 8 shops.



Number of mubbers

A B C D E F G H
Shops

J1 — Average number of rubbers per shop.
J2 — Average of total number of rubbers in E, H, B and D
What is the value of J1/J2?

Options :

1. * 1.009
2. % 1.018
3. % 1.0017
4.+ 1.003

Question Number : 120 Question Id : 54062624192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * 1.009
2. % 1.018
3. % 1.0017
4.+ 1.003

General English1
Group Number : 7
Group Id : 540626952
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 5406261199

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261427

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062624193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Jane has been living (1)/ in this house for (2)/ more than 3 years. (3)/ No error (4)
Options :

1. # Jane has been living

2. % in this house for

3. * more than 3 years.

4. ¥ No Error

Question Number : 121 Question Id : 54062624193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Jane has been living (1)/ in this house for (2)/ more than 3 years. (3)/ No error (4)
Options :

1. # Jane has been living

2. # in this house for

3. % more than 3 years.

4. ¥ No Error

Question Number : 122 Question Id : 54062624194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She want to (1)/ have a high (2)/ fibre diet today. (3)/ No error (4)
Options :

1. ¥ She want to

2. # have a high

3. % fibre diet today.

4. ¥ No Error

Question Number : 122 Question Id : 54062624194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She want to (1)/ have a high (2)/ fibre diet today. (3)/ No error (4)
Options :

1. ¥ She want to

2. % have a high

3. # fibre diet today.

4. % No Error



Question Number : 123 Question Id : 54062624195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He has turned into a (1) new leaf after (2)/ separating from his wife. (3)/ No error (4)
Options :

1. ¥ He has turned into a

2. % new leaf after

3. % separating from his wife.

4. % No Error

Question Number : 123 Question Id : 54062624195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He has turned into a (1) new leaf after (2)/ separating from his wife. (3)/ No error (4)
Options :

1. ¥ He has turned into a

2. # new leaf after

3. # separating from his wife.

4. # No Error

Question Number : 124 Question Id : 54062624196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My heart went off to (1)/ them as I know how hard they (2)/ have worked for this project. (3)/ No error (4)
Options :
1. ¥ My heart went off to



2. # them as I know how hard they
3. # have worked for this project.
4. % No Error

Question Number : 124 Question Id : 54062624196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My heart went off to (1)/ them as I know how hard they (2)/ have worked for this project. (3)/ No error (4)
Options :

1. ¥ My heart went off to

2. # them as I know how hard they

3. ®* have worked for this project.

4. % No Error

Question Number : 125 Question Id : 54062624197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Scientists predict that as global (1)/ warming continued, the maximum potential (2)/ hurricane intensity will go up. (3)/ No error(4)
Options :

1. % Scientists predict that as global

2. % warming continued, the maximum potential

3. % hurricane intensity will go up.

4. % No Error

Question Number : 125 Question Id : 54062624197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Scientists predict that as global (1)/ warming continued, the maximum potential (2)/ hurricane intensity will go up. (3)/ No error(4)
Options :

1. ® Scientists predict that as global

2. % warming continued, the maximum potential

3. # hurricane intensity will go up.

4. ® No Error

Question Number : 126 Question Id : 54062624198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

She read daily newspaper in her office.
Options :

1. # She has been reading daily

2. # She is reading daily

3. ¢ She daily reads

4. ¥ No Improvement

Question Number : 126 Question Id : 54062624198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

She read daily newspaper in her office.
Options :

1. # She has been reading daily

2. % She is reading daily

3. % She daily reads

4. ® No Improvement



Question Number : 127 Question Id : 54062624199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Both Meena and I disagree with this theory.
Options :

1. # as well as me disagree

2. % or I disagrees

3. % and me disagree

4. ¥ No Improvement

Question Number : 127 Question Id : 54062624199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Both Meena and I disagree with this theory.
Options :

1. # as well as me disagree

2. # or I disagrees

3. # and me disagree

4. ¥ No Improvement

Question Number : 128 Question Id : 54062624200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The sooner she submitted, sooner it will be over.
Options :



1. ¥ the sooner it would
2. * sooner it would
3. # soon it would

4. ¥ No Improvement

Question Number : 128 Question Id : 54062624200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The sooner she submitted, sooner it will be over.
Options :

1. ¥ the sooner it would

2. ® sooner it would

3. % soon it would

4. ¥ No Improvement

Question Number : 129 Question Id : 54062624201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The Conservatives learned to regard the veteran statesman, which has combined all sections of Liberals under his banner.
Options :

1. # that have combined

2. % who had combined

3. * who combines

4. ¥ No Improvement

Question Number : 129 Question Id : 54062624201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The Conservatives learned to regard the veteran statesman, which has combined all sections of Liberals under his banner.
Options :

1. # that have combined

2. % who had combined

3. % who combines

4. ¥ No Improvement

Question Number : 130 Question Id : 54062624202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

It was her father who not only misjudged my actions but also her mother who blamed my intentions.

Options :

1. # nor her father who

2. # her father who didn’t
3. % not only her father who

4. ¥ No Improvement

Question Number : 130 Question Id : 54062624202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

It was her father who not only misjudged my actions but also her mother who blamed my intentions.

Options :
1. * nor her father who
2. * her father who didn’t



3. % not only her father who

4. ¥ No Improvement

Question Number : 131 Question Id : 54062624203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The noise made when you burp comes from gas that is in your stomach.
Options :

1. ¥ trapped

2. # rest

3. % opposed

4. % sectioned

Question Number : 131 Question Id : 54062624203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The noise made when you burp comes from gas that is in your stomach.
Options :

1. ¥ trapped

2. % rest

3. ® opposed

4. % sectioned

Question Number : 132 Question Id : 54062624204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

David long ago decided his hands were the of his existence.



Options :
1. # vain
2. ¥ bane
3. % sane

4. % calamity

Question Number : 132 Question Id : 54062624204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

David long ago decided his hands were the of his existence.

Options :
1. * vain
2. ¥ bane
3. % sane

4. % calamity

Question Number : 133 Question Id : 54062624205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

It’s difficult to smile when everything you do in futile.
Options :

1. % get

2. % gone

3. % go

4. ¥ goes

Question Number : 133 Question Id : 54062624205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

It’s difficult to smile when everything you do in futile.
Options :

1. % get

2. # gone

3. % g0

4. ¥ goes

Question Number : 134 Question Id : 54062624206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The dazzling lights of the urban district and the rigorous life of inhabitants.
Options :

1. # them

2. % there

3. ¥ their

4. % those

Question Number : 134 Question Id : 54062624206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The dazzling lights of the urban district and the rigorous life of inhabitants.
Options :

1. % them

2. ® there

3. ¥ their

4. % those



Question Number : 135 Question Id : 54062624207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

For the first time, , it sort of worked.
Options :

1. * but

2. % yet

3. ¥ though

4. * for

Question Number : 135 Question Id : 54062624207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

For the first time, , it sort of worked.
Options :

1. #* but

2. % yet

3. ¥ though

4. % for

Question Number : 136 Question Id : 54062624208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

When the Christian church

P: became dominant in the Roman Empire, its leaders

Q: to threaten Christian religious domination

R: to segregate Jews and curtail their freedoms when they appeared
S: inspired many laws by Roman emperors designed



Options :

1. # SRPQ
2. ¥ PSRQ
3. ¥ SPRQ
4. % QRPS

Question Number : 136 Question Id : 54062624208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

When the Christian church

P: became dominant in the Roman Empire, its leaders

Q: to threaten Christian religious domination

R: to segregate Jews and curtail their freedoms when they appeared
S: inspired many laws by Roman emperors designed

Options :

1. % SRPQ
2. ¥ PSRQ
3. ¥ SPRQ
4. % QRPS

Question Number : 137 Question Id : 54062624209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: ranked as one of DC’s

Q: most-recognizable characters
R: Wonder Woman is perennially
S: and a feminist icon

Options :
1. % QPSR
2. % RPSQ



3. # QPRS
4. ¥ RPQS

Question Number : 137 Question Id : 54062624209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: ranked as one of DC’s

Q: most-recognizable characters
R: Wonder Woman is perennially
S: and a feminist icon

Options :

1. % QPSR
2. % RPSQ
3. % QPRS
4. ¥ RPQS

Question Number : 138 Question Id : 54062624210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: but also to inflict serious wounds on their enemies, including humans
Q: sharp teeth, which not only enable them to seize and hold their prey
R: the mouth is wide and the jaws are equipped with strong,

S: moray eels' skin is thick, smooth, and scale-less, while

Options :

1. % QRSP
2. % SRQP
3. % RQPS
4, % QPSR

Question Number : 138 Question Id : 54062624210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: but also to inflict serious wounds on their enemies, including humans
Q: sharp teeth, which not only enable them to seize and hold their prey
R: the mouth is wide and the jaws are equipped with strong,

S: moray eels' skin is thick, smooth, and scale-less, while

Options :

1. ¥ QRSP
2. % SRQP
3. % RQPS
4. % QPSR

Question Number : 139 Question Id : 54062624211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Freedom
Options :

1. ¥ Liberty
2. # Fraternity
3. % Right

4. # Duty

Question Number : 139 Question Id : 54062624211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Freedom
Options :
1. ¥ Liberty



2. # Fraternity
3. % Right
4. # Duty

Question Number : 140 Question Id : 54062624212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Amaze
Options :

1. # Cease

2. ¥ Astonish
3. # Passion
4. % Expect

Question Number : 140 Question Id : 54062624212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Amaze
Options :

1. # Cease
2. ¥ Astonish
3. % Passion
4. ¥ Expect
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Question Number : 141 Question Id : 54062624213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Fabulous
Options :
1. # Corporeal
2. % Enfeebling
3. * Enervating

4. ¥ Staggering
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Question Number : 141 Question Id : 54062624213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Fabulous
Options :
1. # Corporeal
2. # Enfeebling
3. % Enervating

4. ¥ Staggering

Question Number : 142 Question Id : 54062624214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apprise
Options :

1. # Downfall
2. ¥ Mislead
3. % Galvanize

4. % Undeceive

Question Number : 142 Question Id : 54062624214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apprise
Options :
1. # Downfall



2. % Mislead
3. # QGalvanize

4. % Undeceive

Question Number : 143 Question Id : 54062624215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apprehend
Options :

1. # Trommel
2. % Emancipate
3. # Seduce

4. % Immure

Question Number : 143 Question Id : 54062624215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apprehend
Options :

1. # Trommel
2. ¥ Emancipate
3. % Seduce

4. % Immure

Question Number : 144 Question Id : 54062624216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Appropriate
Options :

1. ¥ Honorary
2. % Competent
3. % Inapposite
4. % Tolerable

Question Number : 144 Question Id : 54062624216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Appropriate
Options :

1. % Honorary
2. # Competent
3. % Inapposite
4. # Tolerable

Question Number : 145 Question Id : 54062624217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Reffered

2. # Refered

3. ¥ Referred

4. ® Refferred

Question Number : 145 Question Id : 54062624217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Reffered

2. # Refered

3. ¥ Referred

4. ® Refferred

Question Number : 146 Question Id : 54062624218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. #* Indeipendnet

2. ¥ Independent

3. # Indipendnet

4. % Independnet

Question Number : 146 Question Id : 54062624218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Indeipendnet

2. ¥ Independent

3. # Indipendnet

4. # Independnet

Question Number : 147 Question Id : 54062624219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. # Philosphy
2. ¥ Philosophy
3. % Philosofy
4. # Philosopy

Question Number : 147 Question Id : 54062624219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Philosphy

2. % Philosophy

3. # Philosofy

4. # Philosopy

Question Number : 148 Question Id : 54062624220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pronounciation

2. # Prononciation

3. % Pronunciation

4. % Pronuoncition

Question Number : 148 Question Id : 54062624220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pronounciation

2. % Prononciation



3. ¥ Pronunciation

4. % Pronuoncition

Question Number : 149 Question Id : 54062624221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Pull someone’s leg

Options :

1. # To steal from someone

2. # To make situation worse

3. # To beat someone recklessly

4. % To tease or fool someone

Question Number : 149 Question Id : 54062624221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Pull someone’s leg

Options :

1. % To steal from someone

2. # To make situation worse

3. # To beat someone recklessly
4. ¥ To tease or fool someone

Question Number : 150 Question Id : 54062624222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Run out of steam



Options :

1. ¥ To exhaust one’s energy
2. # To offer a bad deal

3. % To have limited time

4. # To escape from a prison

Question Number : 150 Question Id : 54062624222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Run out of steam

Options :

1. ¥ To exhaust one’s energy
2. # To offer a bad deal

3. % To have limited time

4. ¥ To escape from a prison

Question Number : 151 Question Id : 54062624223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Meet one’s waterloo

Options :

1. * To examine one’s own thoughts and feelings
2. % To meet one’s friends after a long time

3. ¥ To experience a major defeat

4. % To be unable to repay one’s debts

Question Number : 151 Question Id : 54062624223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Meet one’s waterloo

Options :

1. # To examine one’s own thoughts and feelings
2. # To meet one’s friends after a long time

3. ¥ To experience a major defeat

4. ® To be unable to repay one’s debts

Question Number : 152 Question Id : 54062624224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A disease which can be spread thought direct contact
Options :

1. # Convalescent

2. # Epidemic

3. # Congruent

4. ¥ Contagious

Question Number : 152 Question Id : 54062624224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A disease which can be spread thought direct contact
Options :

1. #® Convalescent

2. % Epidemic

3. #® Congruent

4. ¥ Contagious



Question Number : 153 Question Id : 54062624225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Causing death or ruin
Options :

1. * Brutal

2. * Salubrious

3. % Fatal

4. * Tonic

Question Number : 153 Question Id : 54062624225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Causing death or ruin
Options :

1. * Brutal

2. * Salubrious

3. ¥ Fatal

4. % Tonic

Question Number : 154 Question Id : 54062624226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A group of singers
Options :
1. ¥ Choir

2. % Coir



3. # Quire

4. * Quorum

Question Number : 154 Question Id : 54062624226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A group of singers
Options :

1. ¥ Choir

2. % Coir

3. # Quire

4. % Quorum

Question Number : 155 Question Id : 54062624227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A child born after the death of his father
Options :

1. # Fratricide

2. % Progenitor

3. % Orphan

4. ¥ Posthumous

Question Number : 155 Question Id : 54062624227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A child born after the death of his father



Options :
1. #* Fratricide

2. % Progenitor

3. % Orphan

4. ¥ Posthumous

Sub-Section Number : 2
Sub-Section Id : 5406261429
Question Shuffling Allowed : Yes

Question Id : 54062624228 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

Encephalitis is an inflammation of the brain. It is caused either by an infection invading the brain (infectious encephalitis) or through the immune
system attacking the brain in error (post-infectious or autoimmune encephalitis). Anyone at any age can get encephalitis. There are up to 6,000
cases in the UK each year and potentially hundreds of thousands worldwide. In the USA there were approximately 250,000 patients admitted to
hospital with a diagnosis of encephalitis in the last decade.

Viruses are the most frequently identified cause of infectious encephalitis (e.g. herpes viruses, enteroviruses, West Nile, Japanese encephalitis, La
Crosse, St. Louis, Western equine, Eastern equine viruses and tick-borne viruses). Any virus has the potential to produce encephalitis, but not
everybody who is infected with these viruses will develop encephalitis. Very rarely, bacteria, fungi or parasites can also cause encephalitis.

Some types of autoimmune encephalitis such as acute disseminated encephalomyelitis (ADEM) are caused by an infection in which case the term
“‘post-infectious encephalitis’ is used. Other forms of autoimmune encephalitis are associated with finding specific antibodies in the blood such as
VGKC complex (anti-LGI1 and Caspr2), NMDA receptor, GAD, AMPAR and GABA antibodies. Antibodies, also called immunoglobulins, are
large Y-shaped proteins which identify and help remove foreign antigens such as viruses and bacteria. The reason why these antibodies are
produced by the immune system in people with autoimmune encephalitis is not known in most cases. Sometimes a tumour (benign or cancerous)
may generate the antibody. However, no certain theory based on it, has been cleared so far.

Sub questions

Question Number : 156 Question Id : 54062624229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the given passage?
Options :

1. ¥ Encephalitis and its causes.



2. % What is Encephalitis?
3. # Stages of Encephalitis
4. % Symptoms of Encephalitis

Question Number : 157 Question Id : 54062624230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pathogens is not responsible for causing Encephalitis?
Options :

1. # Virus

2. # Bacteria

3. ¥ Protozoa

4. ® Fungi

Question Number : 158 Question Id : 54062624231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the reason behind the production of antibodies?

Options :

1. ¥ Removal of foreign antigens from the body is one of the reasons for its production.
2. # For the identification of only virus and bacteria in the immune system.

3. % As soon as, a pathogen enters in our body the production of these antibodies start.

4. ® The reason behind its production is not known yet.

Question Number : 159 Question Id : 54062624232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the opposite meaning of the word ‘Potential’?
Options :

1. ¥ Proven

2. # Disembark

3. # Viable

4. % Implicit



Question Number : 160 Question Id : 54062624233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is definitely true about the Encephalitis?
Options :

1. % Tt affects a person at a particular age.

2. % It is caused by an infection invading the brain.

3. % Not all viruses have the potential to cause this disease.

4. # There is no treatment possible for this disease.

Question Id : 54062624228 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

Encephalitis is an inflammation of the brain. It is caused either by an infection invading the brain (infectious encephalitis) or through the immune
system attacking the brain in error (post-infectious or autoimmune encephalitis). Anyone at any age can get encephalitis. There are up to 6,000
cases in the UK each year and potentially hundreds of thousands worldwide. In the USA there were approximately 250,000 patients admitted to
hospital with a diagnosis of encephalitis in the last decade.

Viruses are the most frequently identified cause of infectious encephalitis (e.g. herpes viruses, enteroviruses, West Nile, Japanese encephalitis, La
Crosse, St. Louis, Western equine, Eastern equine viruses and tick-borne viruses). Any virus has the potential to produce encephalitis, but not
everybody who is infected with these viruses will develop encephalitis. Very rarely, bacteria, fungi or parasites can also cause encephalitis.

Some types of autoimmune encephalitis such as acute disseminated encephalomyelitis (ADEM) are caused by an infection in which case the term
‘post-infectious encephalitis’ is used. Other forms of autoimmune encephalitis are associated with finding specific antibodies in the blood such as
VGKC complex (anti-LGI1 and Caspr2), NMDA receptor, GAD, AMPAR and GABA antibodies. Antibodies, also called immunoglobulins, are
large Y-shaped proteins which identify and help remove foreign antigens such as viruses and bacteria. The reason why these antibodies are
produced by the immune system in people with autoimmune encephalitis is not known in most cases. Sometimes a tumour (benign or cancerous)
may generate the antibody. However, no certain theory based on it, has been cleared so far.

Sub questions

Question Number : 156 Question Id : 54062624229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the given passage?
Options :



1. ¥ Encephalitis and its causes.
2. # What is Encephalitis?
3. # Stages of Encephalitis
4. % Symptoms of Encephalitis

Question Number : 157 Question Id : 54062624230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pathogens is not responsible for causing Encephalitis?
Options :

1. # Virus

2. % Bacteria

3. ¥ Protozoa

4. % Fungi

Question Number : 158 Question Id : 54062624231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the reason behind the production of antibodies?

Options :

1. ¥ Removal of foreign antigens from the body is one of the reasons for its production.
2. # For the identification of only virus and bacteria in the immune system.

3. % Assoon as, a pathogen enters in our body the production of these antibodies start.

4. % The reason behind its production is not known yet.

Question Number : 159 Question Id : 54062624232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the opposite meaning of the word ‘Potential’?
Options :

1. ¥ Proven

2. % Disembark



3. % Viable
4. # Implicit

Question Number : 160 Question Id : 54062624233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is definitely true about the Encephalitis?
Options :

1. # It affects a person at a particular age.

2. ¥ It is caused by an infection invading the brain.

3. % Not all viruses have the potential to cause this disease.

4. # There is no treatment possible for this disease.
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Question Number : 161 Question Id : 54062624234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 54062624234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Reawu™ @ Ifad Jaqm foraes a1 [ Sifod |
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Options :

Question Number : 162 Question Id : 54062624235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faT TN Yeg 7 IUIAT J1d B

Options :
1.¥d
2. % d[
3.%9d
4. % &

Question Number : 162 Question Id : 54062624235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T eg; BT IuL 1 HIfSU

SRISATR
Options :
1.¥4d
2. % dl
3.%d
4. % &

Question Number : 163 Question Id : 54062624236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 7TU aTr § e J1d Pifoig |

H ot 75T 3T

Options :

1. % QYA I3y
2. ¢ ITH GBY




3. % HYH R
4. % U YFY

Question Number : 163 Question Id : 54062624236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T a9 # WdH F1d e
o 31T 16T ST

Options :

1. % T I3y

2.« ITH I

3. % O U3y

4. % I

Question Number : 164 Question Id : 54062624237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTu U a1 # Taifed Weg &1 U3 J1d HIfTT|
Tl IR 3R gRared TR e

Options :

1. % Sfdardd 7

2. % HgdI® I

3. % Hfgqarad I3
4.« Tqdrad I3l

Question Number : 164 Question Id : 54062624237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ¢ Iy H Taifdhd e &1 W1 J1d HIfE|




Wdl ¥ IRT 3R AT oR e 8
Options :

1. % SffadTad 93

2. % gUgarad

3. % laddrad I3

4. MIadrad 930

Question Number : 165 Question Id : 54062624238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 71T ec; BT dogd 1A BT

Options :

1. % 3ffg

2. % 3R
3. ¥ ST
4. % 3RTUT

Question Number : 165 Question Id : 54062624238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Yec T g 1 BT

SRR

Options :
1. % 39
2. % 3R
3. ¥ 331
4, % 3RU4



Question Number : 166 Question Id : 54062624239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T wrect ot HfY 1 BT

3+ BR
Options :

1. # 3R
2. ¥ 3&R
3. % JYR
4, % 3delR

Question Number : 166 Question Id : 54062624239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f& 7T 2reat 1 Ffe 1 BT

3 +8R
Options :
1. # 3dR
2. ¥ 3aR
3. % JYR
4. % 3delR

Question Number : 167 Question Id : 54062624240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau v a9 & 9a=H I P

30 WY SThR ¢ aiforg |
Options :

1. % Hearae ga-mH




2. ¢ oA gdamH
3. % Jffgaras daH
4, % IYITIPH JITH

Question Number : 167 Question Id : 54062624240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U aroR ¥ d=TH J1d BT

3T WG TR ¢4 AT |
Options :

1. % fRegars gdqm
2. ¢ fASar® TdH

3. % JffIEarad g™
4. % geYyarad 4™

Question Number : 168 Question Id : 54062624241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U TTU s3] 1 TEt dTH-dgd J1d BT

Options :

1. % 3MRIY-Hg
2. % SRIH-3AT
3. % SFTR-SART
4. ¢ 3fdg-38

Question Number : 168 Question Id : 54062624241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TN Trsc| &1 TRT ITH-dGd I1d P |

Options :




1. % MRy
2. % 3RH-3AIT
3. % SIR-3ST
4. ¢ 3fAW-3&

Question Number : 169 Question Id : 54062624242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U T3l H Y Id BT T HIT
Options :

1. % Tguit

2. % At

3. % IR

4. ¢ iU

Question Number : 169 Question Id : 54062624242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T wrec} # Qg Ikt BT T4 BT
Options :

1. % gl

2. % TRl

3. % il

4.« T[fgoll

Question Number : 170 Question Id : 54062624243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T I/ & IUYe eg &1 T B b Nad RIM P il B
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Options :

1. ® JoRI
2. ¢ it
3. % $ o
4, % gHRI

Question Number : 170 Question Id : 54062624243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % deRI
2. ¢ fpt
3. % o ferg
4, % gHRI

Question Number : 171 Question Id : 54062624244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou Y Tree B Y it 1 o P

Options :
|. % 9Nl
2. % ¥
3. % g
4.« T8I

Question Number : 171 Question Id : 54062624244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fou Y Tree B Y kit 1 o P

Options :
1. % 9Nl
2. % ¥
3. % g
4.« T8I

Question Number : 172 Question Id : 54062624245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T Toc; 1 faciH Wee 1A HITSTT

HoU
Options :
1. % 937]
2. % HHY
3. ¥ IR

4. % B

Question Number : 172 Question Id : 54062624245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Tsg o1 faT Wsg J1d P

HoU[
Options :



Question Number : 173 Question Id : 54062624246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TTT Wsg 1 T Wsg J1d HifoTT
IH

Options :
1. % dh
2. ¥ YA
3. # 3ol
4. % HH

Question Number : 173 Question Id : 54062624246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Tse &1 yaiuarE Wee F1d S|
A

Options :
1. # Pk
2. Uy
3. % el
4. % HH

Question Number : 174 Question Id : 54062624247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad wrea &1 gafgar =81 8, J1d St |

ofel
Options :
1. % 3abh



Question Number : 174 Question Id : 54062624247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ProfifEd Wee &1 yafgar 181 8§, J1d S|

ofel
Options :
1. % 3ad
2. % gferd
3. % AR
4. gigal

Question Number : 175 Question Id : 54062624248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PMH: HHA

2. % JUR . B

3. ¢ HiAH faoR - g&l 3@
4. % g@mé&w

Question Number : 175 Question Id : 54062624248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Toc g b1 el Wsg i 1T BT
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Options :

1. # hH:HH

2. % JUR . HH

3. ¢ HfEH fdOR : gEl B
4. % g@mﬁw

Question Number : 176 Question Id : 54062624249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 54062624249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 54062624250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 9[’]?[
2. % ﬁ,ef
3.9 W
4, % W;ﬁ

Question Number : 177 Question Id : 54062624250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. “%f,ff
2. uf{’ﬁ
3.9"3[;11?
4. “W;ﬁ

Question Number : 178 Question Id : 54062624251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. #= UYyy




2. % 3|
3. AYH
4. % 3

Question Number : 178 Question Id : 54062624251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T T fh T T & ISTERU §, F1d BT |

3T, TR, T
Options :

1. % Ty
2. % IH
3. ¢ AYH
4. % 3

Question Number : 179 Question Id : 54062624252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeRy b1 Uef J1d BT
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Options :

1.« gy

2. % gy

3. % gof

4. % Rgm$

Question Number : 179 Question Id : 54062624252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T 1o 1 Ugf A1 BT |



3remTfiesT s faee St 2|
Options :

1. ¢ gy

2. % grg

3. % gof

4. % (YIS

Question Number : 180 Question Id : 54062624253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 1o ) gfy 19 BT
31T TR 81 gball o

Options :
1. ® diYdl JdPh
2. ¢ UGS

Question Number : 180 Question Id : 54062624253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T g 1 gy I PR
3T ST 81 Thell g |

Options :

1. % S Jab
2. ¢ FUTE®H
3. % IMdH

4. % [Sfgade



General Hindi2

Group Number : 10

Group Id : 540626955

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 5406261202

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261431

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062624254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaRed 2real § A S U Xeg Wi & IaTexvl 57
Options :

1. % YT, S99



2. ¢ aa, Ao
3. % gfofT, gepra
4. % 3, &

Question Number : 181 Question Id : 54062624254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafefad el § S T Weg WA B Ieur 82
Options :

1. ® Yolldl, 94+

2. « Yaa, Afgoft

3. % fofT, gepra

4. % T, T[T

Question Number : 182 Question Id : 54062624255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad 2rsal # ¥ S I Weg Igaa & IETER 82
Options :

1. ¥ BT, IUT

2. % ohel, Pl

3. % gl AR

4. % T, Bl

Question Number : 182 Question Id : 54062624255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad wsal § § HH J Ueg Igad & IETER0T 82
Options :

1. ¥ I, 34T

2. % &al, Pl




3. % gl AR
4. % TET, Bl

Question Number : 183 Question Id : 54062624256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad aredt & § o9 1 g TR HiTSd HTd BT IaTER0T 82
Options :

1. % Hig- 3R dl g W |

2. ¢ TG TIRG UH ST ST |

3. % g Sl Wil

4. % Fg U dl aH U ghft |

Question Number : 183 Question Id : 54062624256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead areal & ¥ &1 I1 a1 TRTeT HiTSId STd BT 3aTeR0T 2
Options :

1. % HIgT 31 ot g S|

2. ¢ UG TIRd UH ST |

3. % g e Wl

4. % g ygh o) av Ura BR

Question Number : 184 Question Id : 54062624257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq U aTRI § 9 g ad a1 I1d |

Options :

1. ¢ T 9gd don ¥ grel i o} ¢ 7181 U s Il |
2. % 9 ¥ 9gd df Gre1 a9 d4 ¢ Udval|
3. % Fad rea it o7 7 U Tl |




4. % G H A Sl ot ¢ Uah g ol

Question Number : 184 Question Id : 54062624257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T aTei § | TG aTed T pifoTd |
Options :

1. ¢ T 9gd doll ¥ a1 fmR +ft 29 18t s TaT|
2. % Jq T §gd a9l S181 a9 HA ¢ Udh el |

3. % T AW g i ¢ 181 U Tl |

4. % i T a9l qredl dl o Udhs ad|

Question Number : 185 Question Id : 54062624258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRa arerl # J TR I 1 Do
Options :

1. ¢ 98 T TS DT YT BT HTS B

2. % S TSH] AT g 98 YT HT HTS o

3. # YT HT O YIS § 98 T g

4. % S AYT BT UTE § I8 T8

Question Number : 185 Question Id : 54062624258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed aredl & @ WRa areg I1d S|
Options :

1. ¢ 98 T TS hT YT BT HIS B |

2. % S ASHT T g 98 YT BT HTS g

3. % YT HT N YIS § 98 T 8|

4. % S 7Y HT TS § I8 TR



Question Number : 186 Question Id : 54062624259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad arel B ¥ s aTed &1 99+ Diforg|

Options :

1. % I G T TRA I I8 &l d- Bl Bl

2. % T I A TRY F UM ob 1Y Ig &l o Bl ol
3. ¢ I g A U1 ¥ 98 &l o &I BTl

4. % T I T U & 1Y 98 &l oA Dl FHal|

Question Number : 186 Question Id : 54062624259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad areil B 9 g aTer &1 o+ Difora|

Options :

1. % I G T TRE U1 A g gl o Bl Hgl|

2. % O I TH TR § U & 1Y Ig Gl o Dl Hal|
3. ¢ I Gl A U1 9 I8 gl o Bl BTl

4. % T 39 T UM & 91y 98 &dl o &l Hall

Question Number : 187 Question Id : 54062624260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U gt # Ty foRme fag &1 SUaT fohan ST S9! uga™ Sifog|

H 35T ASHT §
Options :
1. % |

2.¥ |
3. %9
4. %



Question Number : 187 Question Id : 54062624260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U It # Ty foRme g &1 SUaiT fohdn ST S9! Uga™ Sifvg|

H 3BT ASHT §
Options :

1. % |

2.9 |

3. % 9

4. % ..

Question Number : 188 Question Id : 54062624261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 © Iuged form fag &1 o= iforu

H Y IoT M R
Options :

1. % fquRu fag
2. % 3[eUfdRTH forg
3. % guffR™ g
4. ¥ Ugdl

Question Number : 188 Question Id : 54062624261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T a1y B Iuged AR forg o1 9= sifog |
o M 3T G R

Options :




1. # fowRu g
2. % Ui fog
3. % gufferm™ fag
4. ¢ Ugdd I

Question Number : 189 Question Id : 54062624262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y © Iuged form faeg &1 o= iforu
AT A e F1gd i THdt g forn|

Options :
1. ¢ ddg
2. % SffR™
3. % dY
4. % JqUifeRTH

Question Number : 189 Question Id : 54062624262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T gty & Iuged favrd forg &1 o= ifoTg |
AR A e’ gred ot et g for|

Options :

1. ¥ dUd

2. % 3fgfaRm
3. % |

4. % 3UIGRTH

Question Number : 190 Question Id : 54062624263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faQ 7T gt & Iuged AR forg &1 o= ifoTg |
3T THIT HHR & FaRf §

Options :
1.¥:?
2. % .|
3.% 1

b

4. % .|

Question Number : 190 Question Id : 54062624263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 9T’y & Iuged form fag &1 o= iforu|
3T FHId HHR P Fard &

Options :
1.¥:?
2. % ;|

2

3. % |

9 -

4. % .|

Question Number : 191 Question Id : 54062624264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawed & 9, 39 faded o1 7o 3 ot f3T U geTerk & 31 &1 Jd9§ U § oJad Hral g |
3fef 1 g1t I

Options :

1. % SHA-HEA M

2. % S BT

3. % 9 PSS JHAAT

4. Tt fawar o1 guf g1 A1 g




Question Number : 191 Question Id : 54062624264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded &1 7o 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |
3felf 1 g1t g

Options :

1. % S{TAH-GHA G

2. % gfg HH G

3. % 9 PSS JHHAAT

4. ¢ 5 fawg &1 quf = A1 81

Question Number : 192 Question Id : 54062624265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fawen &1 997 & 7 fou U geTak & 31 ol Ya9% U § oJad Rl g |

(YT YT B, URTIT TR
Options :

1. % TITE! % U

2. ¢ 30 I &1 UgdH
3. % Pl TG

4. % GIUEGR HIAT

Question Number : 192 Question Id : 54062624265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |

3(YAT YT B, TRTIT TR
Options :




1. % T-ATg] 9% U
2. ¢ 30 RIY &1 UgdH
3. % Dlg ST G

4. % HIYGR HIAT

Question Number : 193 Question Id : 54062624266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead uy o, fiu U IR fawedl & 9, 39 faded o1 9o 3 ot fT 70 geTer & 31 &1 Jd9§ U § oJad Hral o |

ENICKEI
Options :

1. % $Hgl 3R /AT
2. ® ST

3. % YAl
4.« H T

Question Number : 193 Question Id : 54062624266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fAwedl 6 9, 39 fawed &1 999 o 1 faU 0 GgTak & 3l &1 498 ¥ ¥ oad Rl 5|

] a3l
Options :

1. % Fgl R G
2. % SV

3. % YRAT

4, ¢ Tl

Question Number : 194 Question Id : 54062624267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafed oy & fou U aR fawedl § 9, 39 fawed &1 999 & 1 fau 70 Ggrak & 3 &1 498 T ¥ oad Rl 5|
37T T gl BT

Options :

1. ¢ 3% gfga™

2. % Sfadt g

3. % gfg ol ST BT

4, % RRISMT

Question Number : 194 Question Id : 54062624267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawed & 9, 39 faded o1 9o 3 ot fT 7T gerer & 31 &1 Jd9§ U § oJad Hral g |

3ok &1 gadl gl
Options :

1. ¢ 3 gfgam

2. % A g

3. % @ o1 ST HAT
4. % RRISH

Question Number : 195 Question Id : 54062624268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 0 aR fAwedl 6 9, 39 fawed &1 999 & o faU 0 Ggrak & o &1 a98 ¥ ¥ oad Rl g

3ot TR ST

Options :

1. ¢ 3] DI HIH T HAl
2. % §fg YUY g

3. % gRAM O

4. % Yo Sl




Question Number : 195 Question Id : 54062624268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 5 9, 39 fawed &1 999 o S fau 70 GgTak & 3 &1 498 ¥9 ¥ oad Rl 5|

3fereT TR ST

Options :

1. ¢ 3] DI HIH T HAl

2. % §fg Y¥ g

3. % gRAM O

4. % Ycp O[]

Sub-Section Number : 2

Sub-Section Id : 5406261432
Question Shuffling Allowed : Yes

Question Id : 54062624269 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

f3T TTU IR D1 ATYED UG TUT UAD UY & IR fadwedl T 9 ¥l fadwed |

31151 T &R YATRITerd BT GR & | A=l HITSTT 3o THAR Siia H Teb dg1 H{HepT (T IET 8 | A=rel HifST1 Ueb 9gd 81 A= HILH § 3R
3BT YHTT TP Ao R USdl g | TN ST AT & AT [Ah H 301 TRIGH <l @ 3IR $s Sgadl ol g | Wi Aeg

o & | I8 X Hifgar a1 & o T1eq U aar g | fad) +ff armanfore wRur % IR & STResdT Uel B & forg rere Hifsar o1
SUTNT T 33T 1Y § | TR Aeaids 1 Wigel R SURRIT HT Sal Gad iR THIGRIe WithTed, Jarsfl & 9 9HM TR YHTId a2 38! 8|
e Hifsar o1 sraftier IudiT st & yuIfad war g | gar Uit 8t 61 srot alky diet +ft diwra wifsar ot sl &) got 8 | A iadr &
TR H QIRd HifSar Uh dgdiiF WehTH 5, S8l afad W 1 31ydT 30 fhdl IdTe &) SaTeT A o1 TdhdT & | difsa) aur sifsa
de +ft Trerer Hifgar & a1em T g 81 Ui § SE Buge, @Iy 8| TR 3 o S HifSar o1 uhi 9ge BragHe g | Siarg
T NRId HIfSaT & THTE START & T ST § | WiRTe FEST1 Id T § T A 0 Jarsft & s GaR 9 dll ! W
3HfYeafaa &1 HiegH §9 T § | o aaey Q¥ & IS W, TP, fIR 3R fdHm IR 3T fore &1 dgara fers ¢ @1
2| Trere Hifgan 3 SitaRieh &) 9gd gt wifad fear g |

Sub questions




Question Number : 196 Question Id : 54062624270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgepT Srafiieh IUANT gHARY A1 BT Ht gHIfad el 82
Options :

1. % JUIIRITeH UIhTs el

2. % 9T

3. ® IdAd 3ifHeafed

4. G HitSAn

Question Number : 197 Question Id : 54062624271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31T HT &R fHTHT SR Heard 87
Options :

1. % gy gt

2. ¥ gaTRIiekd

3. ® AP W

4. % TSI

Question Number : 198 Question Id : 54062624272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A gHg § TiRre Hifear A & g & JTead o7 T 82
Options :

1. ¢ WA SfHeafe

2. % TYTAl

3. % fodR

4. % AJdh

Question Number : 199 Question Id : 54062624273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
forgoh TR § U8 T dgasi- W™ 62
Options :

1. % foRIy
2. % GEpfd
3. ¢ AB Tl
4. % Sfigreh

Question Number : 200 Question Id : 54062624274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 77U gad eI § SUgad S 1 g

Options :

1. % SRl TR GYTd
2. ¢ IR HifSa1 &1 dg
3. % I AcaihT

4. % grTT® faer

Question Id : 54062624269 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

foQ TTQ MY Y eHFYdd UG qUT TS UH & °R Aot § A € Ay g

3Tl &1 SR AT H1 GR ¢ | WA HSTT TS gHR Sfia & U det YA AU g1 81 Tiera Hifsar U 9gd gt aiad J1eH § 3R
3BT UHTd TAD A IR USdl g | TINd HifSaT THS & JrHTfoh fadTd # 39+ GRTe ST g 3R P8 uadmdl & §¢H A Hi Acg
HRAT 8| T8 e Hifsar areh e S greq UeH a5 | frd) +f I R & R § SFReddr Uel - & o averat difsar &1
SUANT U 3BT 1Y 5 | AR Aeaid T Wgel IR JURIT HT 961 &a1d iR JUIGRITC UIhsd, Zarsi & 98 UqM R guIfad e 36! 6|
el e &1 srafties IudlT st o1 gHIfdd HXd ¢ | ga1 Uigl 81 18T 3irel IRy Wt 1 Tiwrel JifSar &1 oidl 81 g & | A iiadr &
TR B TIere HifSar U Sgaii- WehIH g, STet dfad W4 &1 3YdT (U fordlt IdTE &1 SaTal A 0 ST Tabdl g | difadl auT Siifeal
e i Treret Hifsar & 1w § grH 81 TS € S hage, ®icqy 81 SR & forw I Wi o1 wan 98 BradHe B g
T aar Qe Hifgar & gHTdt STt & IQry 31t 8 | TRre Hifsar adum IHa § T A YaAmel & e TR d o WaA
Sffieafad T ATeqH & T g | Forids heaaRey QR g1 & T Wik, TR (4, fadR 8k fasm WR 31aT fre &1 aqad fears ¢ 3@l
2| e Hifgar 3 SiiaRiel &1 9gd & yuiiad fear g1




Sub questions

Question Number : 196 Question Id : 54062624270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgepT Srafiieh IUAINT gHRY A1 BT Ht gHIfdd el 82
Options :

1. % QYIRS UIohgd

2. % ¢

3. % A THAKI

4.« Ierd Hifegan

Question Number : 197 Question Id : 54062624271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TN BT SR fHTbT R HEardl 82
Options :

1. % gy digt

2. « AT

3. % gHTH TR

4. % JSHIfHRT

Question Number : 198 Question Id : 54062624272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TH B I Hear dnl o fore S [rer 99 T 82
Options :

1. ¢ oA YR

2. % YAl

3. % fodR

4. % Uh



Question Number : 199 Question Id : 54062624273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forgoh TR § U8 T dgasi- W™ 62
Options :

1. % fRly

2. % HIPId

3. ¢ AIBIUG

4. % SRl

Question Number : 200 Question Id : 54062624274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 77U TRy  SUged NS 1 I

Options :

1. % SRl TR GYTd
2. ¢ QY HifSa1 &1 98
3. % I AcaihT

4. % grTT® faer




